INCOME TAXATION - MALMAN - SPRING 1995

I.  Introduction - Tax Expenditure Policy

A.
Economic policy

1.
Through tax law, federal government can indirectly spend money b/c government forego money that if business deduct less, the gov't indirectly provides benefit to particular segment of society  (Direct = subsidy)

a.
Allow more deduction for business

b.
Revenue losses attributable to tax law which allow prefrential rates and deductions

B.
Social policy

1.
Charitable deduction is a departure from normative, a special deduction

C.
Rate Structure

D.
Federal taxes

1.
Income - Income-based tax (consumption + savings) v. European consumption-based tax

2.
Excise

3.
Estate

4.
Gift

E.
Sources of tax law

1.
Constitution

2.
Revenue Code

a.
Legislative history

b.
Committee Reports

c. 
Publications issued by Joint Comittee on Taxation 

3.
Judicial decisions 

a.
Trial level


(Refund - First go thru admin process - (i) file claim; (ii) comm reject; (iii) sue)

i.
Tax Court 

Deficiencies     \

ii.
District Court 

Refund
/    Court of Appeals
       \

iii.
Court of Federal Claims
Refund
-> Federal Circuit Court     /  Sup Ct

b.
Appellate level

i.
Court of Appeals

ii.
Federal Circuit Court

c.
Supreme Court

4.
Administrative sources of tax law

a.
Regulations - Department of Treasury, Internal Revenue Service - Commission

i.
Interpretive regulations - Explain code, modern regulations

ii.
Legislative regulations - Great deal of weight, depending on

a.
When it came out

b.
How long it's been in existence

b.
Revenue rulings - a set of opinions which are responsive to a particular fact pattern 

i.
Not citable precedent or published

ii.
Opinions of National Office - tell us how national office would treat a similar transaction to one described in in revenue ruling 

iii.
Published weekly, Semiannually bound in cumulative bulletin (i.e. Rev. Rule 94 -108, 1994  2 C.B. 47)

iv.
Types

a.
Interpretative revenue rulings - may be disregarded by cts if in conflict with Code, regs, or other judicial decisions 

b.
Private letter rulings - not officially published from National office of Internal Revenue Service

c.
Revenue procedures - publications weekly, then bound C.B.

i.
Describe procedures in theory rather than substance (i.e. Rev.Proc. 94-3. 1994-1 C.B. 16)

F.
Deficiency - you owe money

1.
90-day letter, notice of deficiency, ticket to tax court

2.
If not pay, then go to Tax Court, and debt accruing interest (gov't rate on deficiencies - used to be low, now, compouned rate, more market rate, more realistic)

3.
If pay and file timely for refund, then got to Dist Ct or Claims Ct, and gov't have to pay you interest (not as much as you have to pay them)

4.
Can make money by sit on deficiency and not pay

5.
Reasons deal with Tax Court - just deal with tax issues

G.
Gain has to be realized

H. Progressive Rate Structure (Flat tax would be proportional)

I.
Annual accounting system
J.
Credit v. Deduction

1.
Credit - $ for $ reduction of tax liability

2.
Deduction - reduces tax base; only indirectly reduces your liability depending on marginal rate  bracket

II. Gross Income - §61

A.
Steps to Taxable Income

1.
Gross Income - Net of gross receipts from the sale of goods or services, less the cost of such goods, such as labor, materials and overhead expenses (exclusions)


- Above-the-line deductions (i.e. rents) =>

2.
Adjusted Gross Income - §62  


- Below-the-line deductions (itemized deductions, subject to §§67, 68 deductions) => 

3.
Taxable Income - §63  (Tax base x Rate §1)

B.
Computation

1.
Included (Add)

a. 
Salary  

b.
Proceeds - cost recovery (if gain is realized)

c.
Student loan

d.
Interest from savings account

e.
Cash Dividends - §61(a)(7) (Gen rule - stock dividend not taxable) - §305(a))

2.
Exclusions 

a.
Gift - §102

b.
Tuition scholarship - §117

c.
Interest from muni bonds - §103

C.
Adjustible Gross Income - §62 only applies to individuals, not corporations

1.
Gross income - (2) trade and business deductions of employees (10) alimony deductions (if deductible elsewhere, deductible GI -.AGI)

a.
Reimbursed expenses of employee §62(a)(2)(A)

b.
Deductions attributable to rents and royalties §62((a)(4) attributable to to prop held for production of income

2.
Horizontal equity - Net business income - Taxpayer self-employed ~ employee's salary

D.
Taxable Income - itemized deductions

1.
Medical expenses allowed if exceed 7.5% AGI - §213

2.
Whether to itemize - §63

i.
Taxable Income = AGI - (Itemized Deductions + Personal Exemption) 
or

ii.
Taxable Income = AGI - (Standardized Deduct + Personal Exemption)

E.
Haig-Simons definition of Income
1.
Personal Income = Sum of consumption during period and wealth at beginning of pd

2.
What you spend = What you use + what you save

3.
§61 looks at what you take in, not what you spend b/c assumes accounting identical between sum of all receipts from all sources and sum of all accumulation + consumption in one time period

4.
But administrative, real world concerns impact what is viewed as gross income. Gross income does not include all that it could include if based on Haig-Simon, all accessions to wealth.

F.
Gross income

1.
Compensation - Fees, salary, commissions, fringe, in-kind benefits

2.
Doesn't really matter what form an item of gross income takes

a.
Old Colony Trust v. Comm - Gross income includes discharge of his obligation to a third party (Employer paid employee's taxes to gov't - relate to services performed and is compensation)

i.
Policy - Because otherwise could pay off all my debts and not need income $

ii.
Report income in year received benefit (employer paid 1918 taxes in 1919)

3.
Windfall / Treasure Trove is Gross Income
a.
Treasure trove - Undeniable accession to wealth is gross income (Comm v. Glenshaw Glass)

b.
We must tax windfall - Treas. Reg. §§1.61-1(a); 1.61-2(d)(1)

c.
Claim of Right - "Treasure trove, to the extent of its value in U.S. currency, constitutes gross income for the taxable year in which it is reduced to undisputed possession." - Treas. Reg §1.61-14 

b.
Fair market value - §61 (i.e. Find Knicks tickets)

c.
Haig-Simons - we would tax gifts

d.
Found Property - Cesarini - extend Glenshaw Glass beyond windfalls (In '64 find diamond inside piano bought in '57; Ct: Treasure trove, report in '64)

e.
Rationale - Inc case of treasure trove, too much potential for fraud

i.
If allow taxpayer to say 'found it in chair,' too easy to explain increase in wealth that not want to report, so include treasure trove / windfall while not tax bargain purchases from third parties (Dougherty - drug dealing, tax fraud, not report money) 

4.
Bargain Purchase From Independent Third Party is not Gross Income
a.
Clear economic benefit where buyer and seller are not related (family and economically) not give rise to gross income (i.e. Pay $2,000 for piano worth $15,000 Palmer rule)

b.
Rationale - Not economically feasible to to tax every bargain purchase, need FMV

5.
Realization is a requirement w.r.t. property you already own

a.
Significant change of economic circumstances (i.e. Trade in appreicated house for a boat is a Realization event)

b.
Betty buy box of junk at auction for $10; discover valuable baseball card currently worth ¢10,000; two years later sell fpr $15,000

i.
Year 1 - Bargain Purchase

ii.
Year 3 - Amount Relized $15,000 - Tax cost basis $10,000 = Gain $5,000


(Tax cost basis: as if got $10,000 and invested in property)

iii.
If treat Year 1 as windfall - Tax cost basis same: $10 out-of-pocket + $9,990 

6.
Gross income is read broadly - not have to be included in §61


Deduction is read very narrowly - only if find § or Sup Ct case which specifically allow

7.
Bargain purchase or windfall / treasure trove?

a.
If taxpayer find oil on property

b.
Buy box of junk

8.
Proceeds of Loan is not Gross Income

a.
Loan is not an accession to wealth b/c person not richer - Bal sheet A/L offset - Not Gross Income b/c not Savings or Increase of what taxpayer has end -> begin of pd

b.
Consensual obligation to repay -> no Gross Income
i.
If taxpayer establish intention and ability to repay by execute promissory notes secured by assets -> believable -> not gross income (Gilbert)

ii.
Policy - Good person won't get nailed

9.
Illegal Gotten Gains are Gross Income
a.
Borrower has no consensual obligation to repay -> Gross Income
i.
When taxpayer acquires earnings, lawfully or unlawfully, withut the consensual recognition, express or implied, of an obligation to repay and without restriction as to their disposition -> pay income tax (James quoting North American Oil - Taxpayer required to report illegal gains in Gross Income)

ii.
Borrower's intent -> rule difficult to administer b/c diff to determine (Rochelle)

b.
Policy - embezzler v. honest taxpayer

c.
If X gets $5,00 bribe but not file b/c claim right to not self-incrim, still gross income in Year 1. If return $ in Year 2, may be entitled to a deduction. The deduction has value if it reduces the amount of income which would otherwise be taxed. If no income to offset deduction -> not worth much

i.
Year get - not look at legal; year return - look at legal -> Get them at both ends

10. Claim of Right

a.
Annual accounting basis (Burnet v. Sanford & Books Co - not transactional basis, $ was included in gross income though restored losses from prior years)

i.
§172 - permits net operating losses (from trade or business) to be carried back to a specified number of prior taxable years and carried forwad to specific number of subsequent tax years.

b.
Received income under claim of right

i.
No consensual obligation to repay (No present oblig to repay - Cesarini)

ii.
No restriction as to disposition - complete dominion and control

iii.
When reduced to superior value - Taxpayer has right superior to anybody else's to the funds

iv.
Obligation to disgorge as result of later events, not simultaneous with receipt (North American Oil v. Burnet - Taxpayer received in 1917, $ from gross profits of property in1916 during receivership, so taxable in 1917 when she received or entitled to receive. Though litigation with government concerning who has been owner finally over in 1922.) 

Cash method - taxpayer report when actually or constructively received

Accrual method - taxpayer report when rigth to receive $

c.
Distinction between loan and funds received under claim of right is obligation upon receipt offsetting obligation of return

d.
Doesn't matter if mistake or not, have to report it (Lewis - 1944 got $22,000 bonus from employer, so is gross income. In 1946 when court decided bonus wrong and had to return $11,000, then deduct as a loss in 1946 return, but still income in 1944 b/c thought had claim of right and used the money unconditionally as his own) (consistent with Cesarini - reprot it when found)

i.
David received by mistake $10,000 bonus in tax year when marginal rate 36%, and repaid in following year when marginal bracket 15%

a.
Annual accountig and progressive rate structure works detriment to him. If flat tax, i.e. 20%, inclusion cost him $2,000 in taxes, deduction year later save him $2,000 in taxes but lose time value of $2,000 paid to Feds, but offset by use of $10,000 income

b.
If Business, §172 - net operating loss deduction provide averaging mechanism by allow carryovers of net operating losses. Attempt by Code deal with business vicissitudes - rough on taxpayer to have mammoth gains and losses (Income tax based on annual, life is not)

c.
§1341 apply b/c (a)(1) - Bonus included in gross income for year 1 and received it under apparent claim of right and (a)(2) - Year 2 did not have unrestricted right to such item and (a)(3) - Amount of deduction > $3,000 -> Taxpayer gets a choice: (a)(4) or (a)(5) Assume $100,000 income Yr 2. 

(a)(4): Tax for Year 2 computed with such deduction = ($100,000 - $10,000) x 15% = $1,500 savings

(a)(5): (A) Amount for tax year computed w/o deduction - (B) decrease in tax for prior tax year by exclude such item from gross income for prior tax year  = $3,600 savings *

III. Exclusions from Gross Income

A. Contributions to capital of a corporation - §118 - no income when incorporator contribute capital to corporation $5,000 for shares of stock b/c notion that corporation is not made richer, it has liability to its shareholders. Thereafter, what corp generates is income. (§11 - Corp is separate tax entity, and pays taxes at graduated rates)

1.
If at end of Year 1, value of assets of corporation increases, to $5,850 not tax shareholders yet, until they dispose of their shares.

B. Proportionate stock dividend - §305(a) not give rise to gross income (Eisner v. Macomber - b/c is merely bookkeeping that does not affect assets / liabilities of corp or proportionate interest of stockholder or value of his holding - 'Income is gain derived from capital, from labor, or from both combined')

C.
Appreciation in value of property - wait for realization event - If later sell for $5,850, disposition in market is realization event - cost basis of $5,000 = Gain of $850

1.
Policy - Not constitutional issue, question of practical considerations

a.
Liquidity problem - peole less likely invest because have to sell asset b/c need money to pay tax

b.
Administrative cost of discovering the value - burdensome

c.
Want to encourage long term investments

2.
Income exists "when just and socially desirable to impose liability for an income tax" - Surrey, J. 

D. Improvements by lessee on lessor's property - §109 not income if LL, lessor get back land with a building on it.

E.
Recovery of personal injury damages - §104(a)(2) - excludes from gross income "any damages received (whether by suit or agreement and whether as lump sums or as periodic payments) on account of personal injuries or sickness."

1.
Whether they result from the prosecution of a legal suit or action or from a settlement in lieu of such prosecution, the damages received must arise from a tort or a tort-type right. Reg §1.104-1(c) (If suit under state contract law, then §104 not apply)

2.
Damages for lost earnings, awarded as a result of personal injury action, are within the §104(a)(2) exclusion. Rev.Rul. 85-97, 1985-2 C.B.50.

3. 
Policy
i.
Return of capital theory - Taxpayer's receipt of damages serves only to restore her to the position she was in before she suffered the injury. 

ii.
Enough horrible things happen to him, not tax them as well  

iii.
Avoid bunching problem b/c if include, then potential for bunch a great deal of income for year of receipt (i..e Out of work 3 yrs -> taxed all in one shot and b/c of progressive rate structure, more of it taxed at highter rate)

4.
Personal injury includes both physical and nonphysical injury. (Roemer v. Comm. - look at underlying state law and how claim was brought (i.e. CA L - personal tort - defamation = personal injury - distinction should be b/w personal and nonpersonal injuries; Threlkeld v. Comm.)

5.
"Par (2) shall not apply to any punitive damages in connection with a case not involving physical injury or physical sickness." §104(a)

6.
If receive punitive damages on account of physical injury -> can exclude

7.
If payor of injured party pay with shares of stock with basis $6500 and value $8000, then payor has gain of $1500; and if recipient sell later for $9000, then realization event -> has taxable gain of ($9000 - $8000 basis = $1000) Though no tax cost basis or out-of-pocket cost basis (§1012 - Cost basis) Consistent w/ §104(a)(2) b/c want to permanently exclude $8000 from income

8.
Stuctured Settlements - If A had right to receive only monthly stream and not had actual or constructive receipt or the economic benefit of the lump-sum amount that was invested to yield monthly payments -> §104(a)(2) applies to full amount of monthly payments. Rev.Rul. 79-220, 1979-2 C.B. 74.

9.
To the extent get more than their costs, extra is really a windfall, not compensation in kind for injury. (i.e $5000 in medical costs, paid for by insur co; if got another $4000 from other insur and $5000 from negligent party in settlement, then $9000 is windfall)

10. Title VII - Damages under Title 7 excludable under §104(a)(2) (Burke - redressing tort-like injury)

F.
Recovery of Damages for Business Injury (not statutory exclusion)

1.
Important to allocate a recovery 

a.
Damages representing reimbursement for lost profits caused by another's wrongful action are fully includible gross income

b.
Value of goodwill (relates to a business's income generating attributes) incluible only to the extent that the recovery exceeds basis - need to prove cost basis for goodwill (Raytheon).

G. Fringe Benefits - §132 (In-kind benefit as opposed to cash arise in compensatory setting provided by employer)
1.
Fringe benefit included in G.I. unless specifically excluded by a Code section "Gross income includes compensation for services, including fees, commissions, fringe benefits" - §61 - Broad

2.
Four categories - §132(a) - extends benefit to employee's spouse and dependent children for (a)(1), (2) and parents for air travel - §132(h)(2), (3)

(1) No-additional-cost service - employer offer employee service in ordinary course of the line of business of employer (i.e. airline offer employee, space avail basis b/c better for bus when full)

(2) Qualified Employee Discount - §132(a)(2) - if discount w.r.t. qualified property or services  (not for investment, offered for sale to customers in the ordinary course of line of  bus of employer, i.e. TV) does not exceed (A) in the case of property, the gross profit percentage of the price at which property offered by the employer to customers [(aggregate sales - cost of goods sold) / aggregate sales]; (B) in the case of services, 20% of the price at which the services are being offered by by the employer to customers

-
If discount = 25% and gross proifit % = 40% -> discount excludable

-
If discount = 45% -> 40% excludable, and 5% = gross invome

(3) Working condition fringe is excludable - §132(a)(3) that if paid for by employee, would be deductible by employee under §162 (Trade or business expense) or §167 (Depreciation) - Compare employee to self-employed - pay $ for run office (i.e. secretaries, air-conditioning, fly first class for job, to produce income)

(4) De minimis fringe - excluded when accounting for them would be "unreasonable or administratively impractical"

-
Occasional meal money or local transportation fare excludable as de minimis fringe if (A) occasional, (B) provide to enable to work overtime, (C) meal money - Reg §1.132-6(d)(2)(i)

-
Cab fare - Special rule for employer-provided transportation in certain circumstances - Excess over $1.50 excluded if employee would be in unsafe conditions - Reg §1.132-6(d)(2)(iii)


Note - rule not available to control employee (comp > $100,00)

(5) Qualified transportation fringe - i.e. free parking provided by employer to employee

(6) Qualifed moving expense reimbursement
3.
Congress balancing 2 competing objectives in amending §61(a) and ading §132  

a.
if full taxing power, could include all, but b/c reality, business practices, exclude certain in-kind fringe benefits from income

b.
erode tax base and lead to further erosion because more incentive for employers to provide employees fringe benefits -> allocative inefficiency of economic resources
4.
Tax policy considerations
a.
Equity
i.
Horizontal - similarly-situated taxpayers should be treated the same - taxpayer with same income should be treated the same

ii.
Vertical - taxpayer with more income should bear a higher burden

b.
Efficient - economically, should be neutral and not have tax incentives; Free market allocation of resources to most productive resources - tax structure should not interfere with private decisions on allocation

c.
Simplicity - guidance, promotes equality and efficiency, rid confusion else those with more resources more likely to have $ to understand the system to get benefits out of system -> no equity ->perceptions of inequality and unfairness

5.
Non Discrimination Rule - §132(j)(1) - Exclusions under (a)(1) no-additional cost service and (a)(2) qualified employee discount apply to highly compensated employee (i.e. officers) only if available to other employees 

a.
If it is discrim - not availabe to lower paid 1/3 of employees, nevertheless middle 1/3 may exclude (§414(q) defines highly comp employee)

6.
Reg. §1.61-2(d)(1) requires the recipient of noncash compensation to include in income the "fair market value" of such compensation. 

a.
General rule - ignore special values, what worth to particular taxpayer, recipient (i.e. Nixon use charter plane for personal use b/c security issues arise from anture of job - just charge w/ First class ticket)

7.
Different tax consequences depending on relationship of parties involved in transaction

a.
If transfer at bargan price in employemnt - compensatory


Bargain purchase in connection with providing services can give rise to gross income - §83(a) - If, in connection with the performance of services, any property is transferred to any person other than the person for whom such services are performed, the excess of the fair market value of the property received at the first time the rights of the person having the beneficial interest in such property are transferable or are not subject to a sovstantial risk of forfeiture, whichever occurs earlier, over  the amount the recipient paid for the property shall be included in the gross income of the person who performed such services in the first taxable year in which the rights of the person having the beneficial interest in such property are transferable or are not subject to a substantial risk of forfeiture, whichever is applicable. The preceding sentence shall not apply if such person sells or othrwise disposes of such property in an arm's length transaction before his rights in such property become transferable or not subject to a substantial risk of forfeiture.

i.
Fair Market value = price paid for a benefit in an infomred marketplace in a willing, arms-length transaction. Reg. §1.170A=1(c)(2) (but employee is not a willing buyer, so different value to him than FMV)

ii.
Examples

- Employer give employee discount when buy stock, buy $100 shares for $75. Stock is not qualified property or services. If employee buys and is transferable, then the bargain she recieved (FMV $100 - Amt paid for prop $75 = $25) is included in gross income. If she sells next day - §1001 (Amount received $100 - Basis §100 = 0 gain)

 
- Taxpayer receive stock from employer FMV $100, paid $0 in Year 1. Stock certificate "Not transferable and if she leave employer's employ at any time, for any reason b/f Jan 1 in Year 4, she had to forfeit the stock.") Then She is taxed in Year 4, when property is no longer subject to risk of forfeiture -> inclusion event. Delay reporting of income until sure they can keep it. Basic earn-out provision - §83(c)(1) definition of "substantial risk of forfeiture". 


- If stamped "Never transferable" - still taxed in Year 4 b/c "earlier of risk of forfeiture gone and transferable"

 
- If shares can be transfered, but the transferee is subject to same risk of forfeiture -> Stock not transferferable when employee receives it -> tax event delayed. §83(c)(2) - Transferability defined = if not suject to a substantial risk of forfeiture. Not mean just conveyable.


- if stock both not transferable and subject to substantial risk of forfeiture, then income event delayed until no longer substantial risk of forfeiture, Year 4. Assume value of stock between Year 1 and 4 gone up to $200, then income = $125 (measure income when risk gone - Year 4)


- If Terri got salary and stock given to her child -> Terri gets gross income

b.
§83 not apply in bargain purchase from independent third party - Palmer - no G.I.

c.
If transfer at bargain purchase price in family relation - gift?

8.
U.S. v. Gotcher - VW gave expense-paid trip to employee/prospective part owner and wife to Germany to encourage investment -> not income to Gotcher b/c overall purpose of trip was business but wife had income and not deductible

a.
If student gets airfare from law firm for interview -> not deduction under §162 b/c need trade or business; not excluson under §132(d) working condition fringe because not employee -> Gotcher argument

9.
Frequent Flyer Mileage 

a.
If miles accumulated from business trips and I use to buy tickets -> gross income b/c business' bargain, not mine

b.
If miles accumulated from personal trips and I get mileage = Bargain purchase -> no gross income

H. Meals or lodging furnished for the Convenience of Employer - §119 

Exclusion for employee value of meals or lodging furnished to him, spouse, or dependants by employer for convenience of employer if

(a)(1) Meals - furnished on business premises of employer

(a)(2) Lodging - required to accept lodging on business premises of employer as condition of employment 

1.
Exclusion only for in-kind benefits; §119 does not provide exclusion for cash, expense account designed to pay for meals

2.
Benaglia - Free lodging for manager of 2 hotels - not gross income b/c (a) convenience of employer and (b) incident to performance of his duty

a. 
on call day and night -> Business necessity - Reg §1.119

b.
Law firm cafeteria - need really "on call"  Reg §1.119-1(a)(2)(ii)(a)

3.
Consistent with Claim of right doctrine b/c no economic benefit which taxpayer may freely dispose of; and Glenshaw Glass b/c though element of gain and accession to wealth, no dominion and control, similar to coercion

4.
Van Rosen v. Commissioner - employer-provided subsistence and quarters in kind not gross income b/c he had to take this, no choice. The ends of the employer's business dominated and contrlled, just as in the furnishing of a place to work andin the supplying of the tools and machinery with which to work.

5.
Provisions of employment contract are not determinative of whether meals or lodging intended as compensation

IV. Itemized Deductions (or use Inflation Adjusted Standard deduction $3700; and Inflation Adjusted Personal Exemption $2350 for '93; in Code §63 - $3000; and §151 - $2000)
Personal expenses not deductible - §262 or Business Deductions - §162 ?

If taxpayer paid for self and deductible -> if employer provided in-kind benefit, excludable as working condition fringe

Subject to §§67, 68 limitations

A. Business meals
1.
Only 1/2 of meals and entertainment with business nexus deductible b/c meals have an inherent personal feature §274(n)

2.
Moss v. Comm - Partner in law firm had lunch every day talk about running the firm, business - not deductible b/c not necessary business expense

a.
More difficult to establish business expense for meals with co-workers than entertain clients and customers

b. 
matter of frequency - once a month OK maybe, not everyday; daily meals inherently personal

3.
Wells v. Comm - Occasional lunch meeting to discuss law firm meeting may be deductible 

B. Travel
1.
Commuting 

a.
cost = personal expense, not entitled to deduct

b.
If drive from office to meet client and back to office -> necessary bus costs

c.
Tool Rule - If can prove cost more to transport tools than just transport self, then excess cost deductible (Fausner v. Comm) (but can't deduct carry heavy briefcase)

d.
Policy

i.
Preserve integrity of tax base - items of personal consumption should not be deductible

ii.
Revenue concerns

iii.
Equity issues - How about businesses that can't aford to go out to lunch, those who make more can dduct cab and lunch?

iv.
Hotel industry and cab industry want you to be able to deduct it

2.
Travel away from home §162(a)(2) -  "There shall be allowed as a deduction all the ordinary and necessary expenses paid or incurred during the taxable year in carrying on any trade or business, including traveling expenses (including amounts expended for meals and lodging other than amounts which are lavish or extravagant under the circumstances)while away from home in the puruit of a trade or business"

a.
Overnight rule - Correll - has to be away from home for meals and lodging 

i.
Hotel - duplication of living expenses (Hantzis, Andrews)

ii.
Meals - Taxpayer can deduct 50% of meal if otherwise deductible expenditure (§162(a)) as away from home travel expenditure - §274(n)

b.
Transportion cost of out-of-town visit to client deductible if pay for it himself (not in-kind nor reimbursement)

3.
Allocation of Travel Expenses - Combined Business-Pleasure Travel 
a.
Travel expense while away from home in pursuit of business

i.
Hantzis - Where is tax home? Place of abode or place of employment? 

ii.
Daly v. Comm - If Joan chose live in NY and work in DC, her personal choice, and not work cause dupication of lodging expenses, can't deduct commuting costs

iii.
Andrews - Transportation between offices is deductible, if 2 business locations, NY and DC, major / minor post of duty, then away from home if in minor place of duty. Not qualify for temporary job exception b/c §162(a), if there for more than 1 year -> not temporarily away from home (but not clear if less that 1 year, temp away from home)

iv.
If job1 in VT, job 2 in DE, and 6 mos in each location -> transportation deductible b/c major / minor post of duty; lodging not deductible b/c no duplication if rent 6 mos in each location


v.
Traveling salesman - abode = tax home

vi.
No family, no home, just travel city -> city selling -> never away from home (i.e. Kennedy v. Comm) Sleep in truck -> can't deduct)

b.
If trip is both business and personal, transportation is deductible if trip is "primarily" for business purposes - Reg §1.162-2(b)(2)

i.
If time spent not enuf (i.e. 11 days personal, 3 days bus) -> transportation not deductible

ii.
If primarily for bus (i.e. 11 days bus, 3 days personal) -> transportaion deductible; Lodging and meals for those days actually spend on bus deductible

4.
Mechanics of employee take plane ride for out-of-town business expenses

a.
If Co provide in-kind transportation -> §132(d) working condition fringe -> excluded from gross income

b.
If reimbursed by employee -> §62(a)(2) above the line deduction from GI -> AGI §62(c) - Not reimbursed if (1) not require employee substantiate expense and (2) employee right retain any amount in excess of substantiated expense


- Accountable plan -> can exclude reimbursed expense - Reg §1.62-2


(If employee is reimbursed pursuatn to accountable plan, not even have to include, more than "above the line" dedctions - Reg §1.62-17)

c.
If employer increase salary of employee and employee make same trip -> §162 business expense deduction (b/c not listed in §62, not reimbursed expense b/c not pursuant to an accountable plan) below the line deduction -> §67 2% floor on miscellaneous itemized deductions not listed in exceptions in §67(b) -> §67(a) shall be allowed only to the extent thte aggregate of such deductions exceeds 2% AGI

ex: if AGI = $100, then only $98 allowed miscellaneous itemized deductions, $2 still included in tax base

policy: discourage itemizeddeductions, can use standardized deduction; administrative ease; most taxpayers better off not itemize, kep boks and records, substantiate -> make itemizded deductions not worth as much

C. Expenses for production of income - §212
1.
For an individual, allowed deduction for all the ordinary and necessary expenses paid or incurred during the taxable year 

(1) for the production or collection of income; (i.e. brokerage comissions)

(2) for the management, conservation, or maitenance of property held for the production of income; or (i.e. keep stock cert in safety deposit box, holding of rental property for profit)

(3) in connenction with the determination, collection, or refund of any tax

2.
If condo in Fl - rental activity -> Rents are above the line deductions §62(a)(4)

D. Entertainment Expenses - §162
1.
If plumbers eat lunch together everyday and discuss plumbing projects -> no get deduction

2.
If Pres of Corp eat lunch with company officers and usu a customer, attny or acct eat with them at expensive restaurant and reimbursed by co, no bus discussed -> may be entitled deduct some portion of cost b/c by nature of business and way normally conduct their business, 1 and 2 in diff tax postures -> unfairness in system. If reimbursed under accountble plan, not have to report if meets §§162, 274 -> onus of meet statutory requirements, except business-related, §274 on employer

3.
Test - 5 Steps

a.
No personal deductions allowed. §162 "ord and nec" expenses occur in conn w/ taxpayer's trade or business

b.
§274(a) applies to both meals and entertainment


(a)(1)(A) - even if meet §162, no deduction for entertainment unless taxpayer est "directly related to" or if directly preceding or following a bona fide business discussion, that it was "associatd with" active conduct of the taxpayer's trade or business

i.
Directly related to - Reg §1.274-2(c)(3)(i) - "taxpayer had more than a general expectation of deriving someincome or other specific trade or business benefit (other than the goodwill of the person or persons entertained) at some indefinite futrue time from the making of the expenditure."


- (c)(7) - nightclbs are not directly related to generally

ii.
Associated with - Enertainment, including nightclub, can meet assoc with test Reg §1.274-2(d)(3)(ii) - Directly preceding - day preceding substantial bus trans ok b/c out of town people; luncheon follow substantial bus transaction

c.
Expenses have to be substantiated §274(d)

d.
Business meeals can't be "lavish or extravagant" §274(k) (But Service rarely deny portion deduction b/c amount > $500)

e.
Only 50% of meals and entertainment expenses allowed as deduction - §274 only applied at one level, either employee or employer

i.
If furnished by employer in-kind - §162, not have to worry about §274

ii.
If accountable reimbursement plan (employee substantiated all costs) - employee need not report any of that reimbusement and not have to worry about §274 -> employer's concern to meet all reqmts of §274. Employee just has a wash. §274 only applied at employer level (Reg §1.274-5T(f)) (~ §62(c) - if accounting employe to employer, then not have to worry report, §274)

iii.
If pay out of own pocket

E. Educational Expenses - Reg §1.162-5
1.
Education expenses deductible - Reg §1.162-5(a) - if ordinary and necessary business expenses and if not (b)(2) or (b)(3) expenses if 

(1) maintains or improves skills required by the individual in his employment or other trade or business, or

(2) meets express requirements of individual's employer, or the requirements of applicable law or regulations, imposes as a condition to the retention by the individual in order to continue employment. 


(c)(2) If required by employer but is within (b)(2) or (b)(3) -> not deductible

2.
Not deductible education costs - Reg §1.162-5(b) (Examples)

(2) minimum educational requirements to qualify for a position or trade or business

(3) if eduaction qualify you for a new trade or business

3.
Deduction for attend seminar disallowed unless expense connected to trade or business.  274(h)(7) (i.e. Doctor attend medical conference, deductible; Doctor attend stock market seminar, not deductible)

4.
Better for taxpayer to be reimbursed so not worry about whether capital expenditure or meeting §§67, 68

5.
Ordinary and Necessary Expense v. Capital Expenditure 

- Deduct over time

- Even if Ordinary and necessary to business or trade

- Unless have asset with limited useful life

- If not a wasting asset, deduct when sell (i.e. land) - Reduce gain, increase loss

Taxpayer can't simply treat that cost as simply earning power this year, but over many years

i.e. buy a building with clear business nexus, but not deductible under §162 b/c not an expense, but a capital expenditure. 

i.e. Dentist buy a drill, the cost of earning 4 years' income is a capital expenditure, not expense. Taxpayer recovers this cost, but not all at once - Depreciation and amortization.

Acquisition cost v. Repair

New roof, paint -> this year

Cost of education associated with acquire new job is capital 

Improve new job is similar to repair

F.
Uniform and Work Clothes
1.
Pevsner v. Comm - Employee at French designer boutique could not deduct cost of clothes b/c based on objective basis b/c admin reasons, fairer, hardship on system - both gov't and taxpayer to comply with subjective test. 

a.
3-part test for clothing to be allowed as business expense (5th Cir.)

i.
Required as condition of employment

ii.
Only suitable for her business

iii.
Not worn outside the job

b.
she failed (ii) and (iii) b/c could wear outside the job and she did wear it

2.
Suit not deductible b/ccc could wear outside; glasses not deductible b/c required by eyesight, not job; goggles deductible b/c caused by job and not used outside job

3.
Entertainer may deduct cost of sequined red velvet suit - Test
a.
Business or personal expense
b.
Capital expenditure or expense
i.
Not necessarily all deductible now - suit may last longer than a year, so that cost of suit might not all be deductible now, but over period of years

c.
Miscellaneous itemized deduction, subject to §67 - 2% floor; §68

4.
If red-sequined suit was in-kind benefit, then not included in gross income at all as §132 working condition fringe (b/c had the employee purchased it himself, it would be deductible under either §162 - trade or business expense or §167 - deductible by depreciation, recover cost over number of years - capital expenditure)-> avoid deductibility problem and §§67, 68.

5.
If taxpayer buy the suit and reimbursed under an accountable plan -> avoid problem of deduction 

a.
Reimbursements or expenses paid under allowable plan are not included in gross income - Reg §1.62-2 

b.
Reporting and substantiation of certain business expenses of employees - Reg §1.162-17 

G. Business Deduction - Restrictions 

1.
Reasonable Compensation
a.
§162(a)(1) - Allowed a deduction on ordinary and necessary expenses paid or incurred in a trade or business, "a reasonable allowance for salaries or other compensation for personal services actually rendered"

i.
Ordinary - Normal for that kind of group of taxpayers



Necesary - Appropriate and helpful

ii.
Expenses - Not a capital expenditure

iii.
Paid or Incurred - Accounting method (Cash method accting - Paid; Accrual method - Incurred)

iv.
In carrying on any trade or business

v.
Reasonable in amount - Reg §1.162-7

vi.
Paid for personal services actually rendered

b.
Test

i.
Contingent compensation as basis of earnings, not treated differently as compensation at flat rate - Reg §1.162-7(b)(2) - Allowed as deduction tho > amt ordinarily paid in work out K if

a.
Free bargain b/w employer and employee

b.
Made b/f services rendered

c.
Not influenced by consideration of employer

ii.
Allowance for comepnsation paid may not exceed what is reasonable under all the circumstances. "Amount ordinarily paid for like services by like enterprises under like circumstances." Factual inquiry - contingent comp - factors at date K made - was K reasonable?, not just amount - Reg §1.162-7(b)(3)

c.
Publicly held corp - no deduction shall be allowed for applicable employee remuneration if exceed $1,000,000 - §162(m)

d.
Harold's Club - Compensation - flat amount plus 20% net profits; Competitors of industry test -> reasonable - he was worth it, he made good for co.

Ct: - Not a free bargain amongst employer / employee b/c part. relationship - father as employee ex. undue influence over his sons. (Corp can't make gift except to charitable entities)


- Amount unreasonable not deductible from gross income to arrive at taxable income 


- Corporation, employeer - will be taxed on it; Employee - is income b/c not a gift (i.e. Corp pay $1.2mil, half amt unreas - $600,00 deductible for corp, employee has income of $1.2mil b/c not a gift)


- Service can say substance of payment is distribution of profit to shareholder son as dividend & then gift from son to father -> not deductible to corporation

e.
Problems of unreasonable compensation typically arise in closely-held corporation, payments to individuals who stand in dual role to payor. (i.e. Employee and shareholder) 

i.
Dividend - compensation from corporation's earnings - §61 - nondeductible 

ii.
Compensation for services rendered - deductible
iii.
Both are ordinary income

f.
Categorize as payment of Dividends or Compensation - Reg §1.162-8

i.
If Corp has earnings of $500,000 and pays to shareholders $200,000 -> both taxed - Double tax system 

ii.
If Corp makes $500,000 and pays $200,000 in compensation -> deduction of compensation paid if reas and for servicesactually rendered or paid pursuant to contingent compensation and meet test in Reg -> Deductible -> Employer $300,000 of income; Employee $200,000 gross income - One level of taxation - in employee's base

g.
If Michael's K contain a clause that requires him to pay back to the corp part of comp paid to him which the Service challenges as excessive 

i.
If put in as condition of employment -> deductible under §162 b/c part of employment relationship

ii.
If Michael in lower tax bracket in year of repayment - Not eligible for §1341 treatment b/c not claim of right case (~ Lewis - had to return the excess bonus; North American Oil - can deduct if have to pay it back)

2.
Illegality or Impropriety - Public Policy Limitation
a.
Deny deduction if payor beleaguered is subject to a criminal penalty, illegal activity under state law by paying this or if v. state policy - §162(c)(2) 

b.
Steps

i.
"Ordinary and necessary" business expense?

ii.
Criminal problem? §162(c)

c.
Cost of goods sold is an element at arriving at gross income - If in business of sell goods, reduce amount of gross income by cost of those goods - Reg§1.61-3 (Gen, determine cost of goods sold by inventory accountiing - FIFO / LIFO)

Ex: Sell slot machines, illegal under state law. 

$400,000 sales - $100,000 cost of goods sold = $300,000 GI -> AGI by reduce GI by above-the-line deductions §62(a)(1). 

§5,000 Rents and $30,000 Reas comp - deductible

$80,000 bribe -§162(c)(1) not deductible

$5,000 fines - §162(f) not deductible
$10,000 Legal fees in conn w/ litrigation - Reg §1.162-21(b)(2) deductible b/c not violate public policy

d.
Expenditures in connection with the illegal sale of drugs are not deductible - §280E Policy: Tax L disincentive for certain activities. 

e.
Only Legal "nec and ord" expenses in business are deudctible (i.e. Divorce lawyer not deductible b/c origin of claim is personal)

V. Credits 

Progressive rate system - higher income taxpayer benefit more from deduction than middle or low income bracket taxpayer. 

Some deductions provide upside-down subsidy

Credit recognize business connection b/w cost in Smith and broad array of costs under §21

Rationale for credit rather than deduction - low and middle income taxpayers who need tax break. Deduction work in opposite way. $ for $ so every taxpayer get same benefit

A. Cost of Child Care - §21

1.
Smith v. Comm - P arg: But for cost of care given, taxpayer could not go to work; 

Ct: Would open the floodgates of litigation (i.e. Doctor fees, clothes, home, food also necessary to operate of bus but personal expense not deductible §262) 

Tax Policy - "Ability to pay" 

Haig Simons - should not deny deductions for cost of producing income; but is cost produced by personal choice of having a child -> not deductible b/c item of personal consumption, personal choice (~ no deduction for commuting costs, meals, gen rent, monthly cost of personal rental car)

§162 intended to cover normal cost of being employed w/o regard to personal considerations (i.e. accountant can't deduct cost of glasses, personal choice, not business cost)

2.
§21 provides a credit for household and dependant care services necessary for employment 

a.
Child Care & Dependent Care

b.
limit depend on how many children, dependents - §21(c)

VI. Gifts or Compensation?

A. Assignment of Appreciation (of Depreciation) in Value

1.
§102(a) excludes the receipt of a gift from the gross income of the donee 

a.
Donor is taxed - no deduction b/c

i. 
double tax unfair  

ii.
Progressive rate structure - gov't concerned people try shift income from high bracket taxpayer to low bracket taxpayer so no want to include in recipient's tax base

iii.
Separate Excise tax - transfer tax; federal estate and gift tax

b.
Haig-Simons - Would be in both: Donee: Increase it wealth (Glenshaw-Glass - net accession to wealth); Donor: Personal consumption §262

2.
Any income subsequently generated by the property received will be included in the donee's gross income - 102(b)

3.
Realization events - Gen, the donor will not realize gain (or loss) on making a gift even if the value of the donated property is different from the donor's basis in the property - §1001(a), (b)

a.
Sale or disposition = Realization even

4.
Gifts in kind - §1015(a) (carryover basis)


GAIN - (i) Realized (§1001 sale / dispos) and (ii) Recognized (not deferred)


LOSS - (i) Realized, (ii) Recognized, (iii) Allowed (§165(c) for indivs) and (iv) Not Disallowed (§267 - i.e. children)

a.
For purposes of determine GAIN on sale of prop acquired by gift: 


Donee's basis = donor's basis subject to adjustments which may occur during the time the donee holds the property

b.
For purposes of determine LOSS on sale of prop acquired by gift: 


Donee's basis = LESSER of (i) donor's basis at time of transfer or (2) FMV of prop at time of transfer
c.
LOSS realized on the sale of prop acquired by gift may be deductible - §165(a), (c)

d.
But donee can not dedut portion of the loss attributable to any decline in value while prop was held by the donor

5.
Property transactions - Dispositions, transfers of property

a.
Basis of property - cost - §1012

b.
Y0 - Donor's basis of stock - $1,000, FMV - $10,000; Y1- Donee sells stock for $15,000 -> Donee has same adjusted basis as donor  


§1001(b)
Amount realized
$15,000


§1015

Adjusted Basis
  $1,000



Gain


$14,000

i.
Taft v. Bowers - Tax appreciation in both donor's hands ($9,000) and in donee's hands ($5,000), else donor's appreciation will go untaxed

ii.
Consistent with failure to tax donor, we must have donee retain donor's basis b/c continuing investment

c.
Sale for $5,000 -> Amount realized $5,000 - Adjusted basis $1,000 = $4,000 Gain

d.
Sale for $500 -> $500 loss for donee  

e.
If Donor's basis for stokc is $10,000 and FMV is $1,000 and donee sell for $15,000, then gain is $5,000

f.
If Donee sell for $500, adjusted basis is $1,000, then loss is $500 ( §1015(a) - If prop depreciated in value in hands of donor, then for purpose of determine loss, the donee's basis is the FMV at time of gift) 

i.
FMV is what a willing person would pay at time of gift w/o compulsion tobuy or sell

ii.
Policy - prevent sift loss from low-income taxpayer to high bracket taxpayer - limit ability to shift built in losses from one related party to another

g.
If donee sells for $5000, then no gain or loss - Reg §1.1015-1(a)(1) and (2)


$5,000 Amt Realized

$5,000 Amt Realized

  - $10,000 Adjusted Basis        -
$1,000 Adjusted Basis


    No
Gain


     No
Loss 

h.
Donor owining prop with basis in excess of FMV should gift as gift. Donor owning prop that declined in value should sell for cash in open mkt to unrelated taxpayer so that can record a LOSS (if pass 4 hurdles)

i.
If Hapless sell pencil with basis of $.05 for $.25 and sells in store for $.10 ->Part sale ($.10) / part gift ($.15). Gain = $.05 ($.10 amt realized - $.05 cost basis, Gift = not included 

6.
Policy
a.
A transfer by gift is not a taxable disposition, not a realization event, treat like continuing investment 

b.
It ends with the disposition for cash or any other realization even outside this semi-unit

c.
Donee steps into shoes of donor and takes over the tax attributes donro had w.r.t. property - §1015

7.
Steps
a.
What is income? 

b.
When to report it? 

c.
Who is taxed on income? §83(a) 

d.
Character of income? Ordinary v. Capital

- Ordinary gain taxed at max rate of 39%


- Long-term capital gain gets preferential treatment - taxed at max rate of 28% 

i.
gain from sale or exchange

ii.
of a capital asset

iii.
held long enough ( 6 or 9 mos)

8.
When donee steps into shoes of donor, Donee also gets holding period from donor - tack holding periof of donor so if requisite period is 6 months - donor has 4 mos and donee has 3 mos -> Donee has 7 mo holding period

9.
Assignment of income principle - not allow shift income 

a.
Easy to shift income from property (i.e. Dividend, interest by transfer prop) to another taxpayer

b.
Difficult to shift compensation (person who earns comp is person who will be taxed on income) (Lucas v. Earl)

B. Disguised Compensation for Services

1.
What is a gift? Comm. v. Duberstein - Business relationship - hard to find gift

a. 
"a detached or disinterested generosity" 

b.
In this business setting, payor is not required to provide recipient with car, though no legal or moral obligation, still considered recompense for past services (i.e. Old Colony Trust - tho no legal or moral oblig to pay tax of employee, still comp)

c.
Ct declines to have a motive / intent test 

2.
Employer / Employee context - §102(c)  

a.
No such thing as business gift to employee 

b.
not cover indep contractors

C. Transfers at Death - §1014 (stepped up basis)
1.
Receipt and Basis of Bequests

a.
Death is not a disposition, not a realization event - §1001 -> appreciation is not income for decedent

b.
Recipient has no income - §102 - GI 'not include income by gift, bequest, inheritance." 

i.
Sale or exchange -> income 

ii.
Recipient's basis = FMV at date of death - §1014

iii.
Policy - Not matter if value decline in decedent's hands b/c people not concerned by attempts of people dyingto shift a loss (so no basis rules like b/f where one basis for gain, one basis for loss depending on decline in value) Admin reasons - b/c have to go back to books of decedent 80 years ago hard, FMV easier; 


But family will gain b/c no gain reported -> inequities b/c can sit on appreciated assets -> to next generation; But Incentive to keep until death, planning device only for those who have income, others can't take advantage of

a.
§1015 caryover basis - take donor's bais b/c gift not taxable

b.
§1014 step up basis in basis to FMV - appreciation in decedent's hands gone from the system -> in noone's tax base

c.
Y0 - D's basis for stock = $1,000; FMV = $10,000 at date of D's death. Y1 - Recipient sells shares for $15,000 -> ($15,000 - Basis $10,000 = $5,000 GAIN)

d.
If Recipient sells for $5,000 -> $5,000 LOSS; If sells for $500 -> $9,500 LOSS

D. Life Insurance 

1.
K in which an insurance company (the insurer) promises to pay a specified amount (the face amount) to a designated person (the beneficiary) on the death of a named person (the insured) in consideration of payments (premiums) usually made by the person who owns the rights under the policy (the owner). 

a.
Term life insur - insures against the death of the insured during a limited period of time. If the insured does not die during the policy term, the insurer retains the premiums. If the insured dies during the policy term, the insurer pays the benefiicary the face amount of the policy.

b.
Ordinary life insur - Gen requires the pament of constant annual premiums, consists of 3 elements: pure insurance, savings, and mortality gain (loss). Insurer invest savings element of premiums and produces earnings, so offset increasing cost of insurance as the insured gets older. 

c.
Mortality gain when insurd dies earlier than expected (i.e. Insured takes out $100,00 ordinary life policy at age 45, dies at 65, after paid $60,000 of net premiums. Death, beneficiary receives $100,000 full amt of policy)

2.
Proceeds of a life insurance policy paid by reason of the death of the insured are gen excluded from the beneficiary's gross income - §101(a)

a.
regardless of the person or entity to whom paid or whether the payment is made directly or in trust - Reg §1.101-1(a)(1)

b.
Proceeds paid on the death of an insured under an ordinary life policy include interest carried on the portion of the premiums invested in the savings portion of the policy, the amount put into the savings, and a mortality gain.

c.
Policy - Exclude death benefit proceeds from G.I. b/c r

i.
Replacing capital. decedent. Similar to §104(a) where pay damages for personal injury / illness, recovery of capital, replacement of loss capital. (not viewedas replace stream of income)


But leads to favor one type of investment over another -> influence way taxpayers choose to invest their funds -> may not be what we want to do / allocate resources

ii.
Sympathy factor ~§104(a)(2) - taxing wife and kids, may be not right time to tax them. Life insurance a good thing to have people buy ~102

3.
But if insured buys a 25-year endowment policy with an annual premium of $3,500 and a face amt of $100,000, where receives face amt on earlier of the insured's death prior to reaching age 60 and the insured reaching age 60. She lives to 60 and collects the face amt of $100,000 on maturity of policy -> §101(a) not applicable b/c not a death benefit, not payable b/c she die -> no specific statutory exclusion. 

a.
Taxation of Annuities - §72 (Amounts not received as annuities- §72(e)(6)(A) - Taxpayer's investment = $3,500 x 25 = $87,500 -> taxpayer's investment of $12,500 is included in G.I.)

b.
Different from investments like CDs and savings accts where get annual income from interest earned. Insur cos, no current income, but deferral

c.
Could treat like investment vehicles, annually tax policy owner like CD, savings accts

VII. Property Transactions

A. Barter Transactions and Imputed Income

1.
Exchange of assets or services through intermediary services - Club Members exchange services or goods. A performs services worth $200, credited with 200 units, could thru club, exchange services for services, goods for goods. Where taxpayers exchange goods or service, even thru barter club, still have gross income. Rev. Rul. 80-52. Policy - Else, sell goods thru bartering, so warn barter clubs.

2.
Imputed Income - arises outside ordinary process of market - No income for "a flow of satisfaction from durable goods owned and used by the taxpayer, or from goods and services arising out of the personal exertions of the taxpayer on his own behalf." Enjoyment from use of one's own prop, or own services distinguished from market transactions, non-cash, in-kind income  (i.e. Pay LL rent in form of produce)

3.
Household services (i.e. Prepare meal, clean house, mow lawn)

a.
If A and B married and work and clean house & mow lawn -> no income

b.
If A and B diff houses -> may gift if related, else exchange of services -> FMV

c.
If same house, deal that A cook, B clean -> no GI b/c family, viewed as single taxable unit, like render services for self (i.e. §267 - losses b/w related taxpayers, §1041 - divorce prop)

d.
Potential for horizontal inequities - A & B married, A stay ome to cook and clean - no G.I., B works - $50,000 G.I.; C & D both work outside home - $75,000 G.I., but have to pay E $25,00 to cook, clean -> may affect people's choices, capital decisions, allocation of resources by fail to impute cost of household labor, no G.I.

4.
If D prepare's R's tax return normally cost $100, but instead R prepare D's will normally cost $100 -> G.I. Exchange of services - Rev. Rule 80-52 - Old Colony Trust - Fed income tax paid for by employer

a.
If time lag, then may argue that each of them received a gift. (i.e. Week 1 - D prepare tax return for R, week 3, R asks D if need legal work and does it) 

b.
Duberstein - existing economic commercial relationship -> decide whether or not transfer of car was one came from 'detached and disinterested generosity'

5.
Leisure time, give up ability to earn amount ov income in market place, is not taxed. (i.e. Mo relinquish $300,000 job for $100,000 job) 

a.
Code will impute a market transaction sometimes (i.e. Below market interest rate loans will create income to lender, treated as if inganged in favorable market transaction - §7872)

6.
If consume own or take home from own grocery store, veggies -> no G.I. If give C, neighbor $100 worth veggies in exchange for watch home -> taxable, or alternatively, gift.  If exchange for tires = market excange -> taxable event

7.
Owner-occupied housing
a.
Horizontal equity problem - Renter and homeowner   

i.
Renter invests $50,000 in securities generate a return of $5,000. Renter uses return to pay rent on a home -> $5,000 income - $5,000 out = 0 cash at hand

ii.
Homeowner takes $50,000 and buys a home to live in, so no cash coming in from that house. Anual rental value of homewner's residence = rent paid by renter -> 0 income, 0 cash at hand

iii.
Renter has $5,000 tax base while Homeowner has $0 tax base -> could solve hor equity problem by (1) Rent deductible (but §262 pers consumption); (2) tax imputed value of living in that house

B. Introductory Barter Transactions - Disposition Basis

1.
Gain = FMV - Adjusted Basis (§1001(a))

a.
Gen rule - Sale or exchange = realization event

2.
Realized loss is recognized - Take account of this year, no deferral (unless other Code section say not) (§1001(c))

3.
Ex1: 3 yrs ago, J purch a building, curr valued at $220,000, A.b = $150,000. Assume J contributes the building to a corp in exchange for stock in that corp worth $220,000.

a.
Gain = 220 FMV - 150 A.B. = $70,000 = amt realized if she sell building for cash (§1001(a) - Gain from sale or other disposition)

b.
If she exchange for securities -> Exchange = disposition -> Gain -> §1001(a) Gain  $70,000 is realized, but not recognized (b/c §351 provide for non-recognition trans - allow tax-free trans for ongoing corporations)

c. 
Deferral mechanism - her stock take this basis and if sold stock for cash -> gain realized and recognized. (If later sell a FMV+ -> gain $70,000+; If sell for less -> loss)

d.
Policy - Change FORM not SUBSTANCE -> not recog gain / loss yet

4.
Ex2: Assume J gratuitously transfers the building to her son M

a.
GIFT - No gain b/c Code not find gain / loss when gift 'transfer of unencumbered prop as gift' (Not deferral rule b/c she is not taxed)

b.
Recipient takes donor's basis -> $70,000 taxed to donee if sell b/c viewed as a unit; Defer tax til prop sold outside the unit for tax b/c continuing investment

c.
When donee sells for cash, tkes donor's holding pd -> Long / short term cap gain. (i.e. If sell 8 mos later -> holding pd = 8 mos + 6 mos (If donor held for 6 mos b/f transferred for stock) §1223)

5.
Philadelphia Park Amusement 

a.
'Value of the 2 props exchanged in an arms-length trans are either equal in fact, or are presumed to be equal.'

i.
Relationship of parties - economic relnship, family relnship -> Part sale / part gift (i.e. Corp and controlling sh trans Harold's Club; sh and employee)

ii.
Not related -> Probably arms-length (assume b/c easier to administer)

b.
'Only in rare and extraordinary cases that the value of the prop exchanged can not be ascertained w/ reasonable accuracy.'

c.
Problem: Tax K in this trans, but she doesn't have cash with which to pay tax on the gain. (~ fringe benefits - In-kind compensation rather than pay employee with cash. §83(a) -> is income -> have to sell car to bay tax b/c no other cash) 

d.
Policy: But if didn't find income in exchanges of property -> everybody involved in barter trans -> erode tax bases. People would not give cash comp if in-kind comp not included in G.I.

e.
Have to equate receipt of prop w/ receipt of cash, recognizing liquidity problems

6.
Ex1: K owns a restored car with a basis of $5,000 and FMV $15,000. K bought the car 10 yrs ago. K gives the car to R in return for his painting K's portrait.

a.
K exchange property for services -> Value of services received = Amt realized. Not sure how to value the painting or the portrait -> A.R. = $15,000; A.B. = $5,000. -> Gain when she received the painting = $10,000 (§1001(a)) 

b.
In arms-length trans - assume value of what received = value of what gave up (Philadelphia Park - Ct went back to old exchange and preserve a barter equation) -> K's basis in portrait received = $15,000 FMV in car gave up (A.R.) (If give her a $5,000 basis -> tax her on $10,00 gain 2x)

c.
R's basis in car received = $15,000 -> Realize 0 gain 

7.
Ex2: K transfers the car to J in satisfaction of a $15,000 tort judgment against her.

a.
K realizes gain b/c ~ transfer for cash. Transfer of apprec prop in satisfaction of obligation is a Taxable disposition - Davis) Treat her as sold prop, got cash -> paid off oblig w/ cash. 

b.
If not sure value of oblig -> look at value of car to determine A.R. 

c.
J's basis = $15,000 so he not have gain b/c §104(a)(2) - tort damages on personal injury are not G.I.  - Not a taxable disposition

8.
Ex3: Assume K transfers the car to J in exchange for a contract right (the right to service vending machines) held by her

a.
Philadelphia Park - If can't value contract right, then value what she transferred, the car -> J have basis of $15,000.

b.
Basis in prop received in taxable exchanges = Out of pocket cost + Tax cost 

c.
K realized $10,000 gain when she transferred the prop = Tax cost -> Not want to tax her 2x on that

C. Introduction to Nonrecognition Transactions

1.
Leasehold Terminations - §109
a.
xHelvering v. Bruun  - tenant lease land from LL and knocked down old building and put up new building. When land lease terminated and land recovered by LL, LL has income due to increase in value by new building, though not severable. 

b.
Non-recognition provision - §109 overuled Helvering v. Bruun - no income when LL get building back when lease terminates. 

i.
Policy - No cash to LL to pay tax; Postpone what could be a realization event when LL dispose of prop

c.
§1019 - No increase in basis if no tax cost attributable to building received on termination

d.
Ex: X purch a large piece of land for $100,000. 

i.
10 yrs later, X learns that the deed to the prop includes 10 more acres than he originally thought. The 10 adt'l acres are worth $10,000. 

a.
Yes, realization event. Windfall does give rise to G.I. (Glenshaw Glass)

b.
Not just an appreciation in value to prop taxpayer already has. X getting something that X didn't have b/f b/c got 10 more cares!

ii.
A wide creek runs thru X's prop. Sometime after the purchase, the creek dries up, and the land formerly at the bottom of the creek becomes usable.

a.
No realization event, b/c just increase in value of prop already own

iii.
Assume the acreage X purchased was zoned for residential use, and X succeeded in having the zoning changed to permit farming, which increased the value of the land.

a.
No realization event b/c prop just became more valuable. Marketplace justification. When sell revalued prop -> Realization event

e.
Ex: L purch land in Y1 for $10,000. He rented the land for 3 yrs to T, who built a $3,000 bus-related leashold improvement on the land. When the lease expired in Y4, the land was worth $10,000, and the improvement was worth $2,000. In Y6, L sold the prop for $11,000, allocating $10,000 to the land and $1,000 to the improvement.

i.
§109 - no income when L get building back. Deferral until subseq sale of prop. Can work as a permanent excluseion of gain b/c require realization event.

ii.
§1019 - Property on which lessee has made improvements - No increase in basis if no tax cost attributable to buidling received on termination

iii.
T - §162 can deduct rental payments as cost of doing bus. This is a capital expenditure, so not all deductible now, but over a period of years - §263

2.
Property Settlements in the Context of a Marital Dissolution - §1041

a.
Transfers b/w spouse, or b/w former spouses - Divorce / Separation transactions - §1041 - No gain or loss shall be recognized on transfer of prop to spouse or incident to divorce = Nontaxable gifts - Nonrecognition trans - gain is deferred, not eliminated usu. (Recipient takes carryover basis in the transferred prop)

i.
Method of deferral is basis rule

ii.
Policy: Non-taxable event b/c taxpayers are married - economic unit

iii.
Overruled Davis, which said state L of equitable distribution found division of prop in divorce proceeding to be taxable event

a.
Policy - Less concern that they wold act in concert to detriment tax base

b.
No loss is recognized -> not need to go to allowance / disallowance sections §267(g) takes interspousal transfers out of §267, so that spouse stays in §267 rules (i.e. §267(b)(2) - corp and controlling indiv)

i.
§267 - Disallowance section (a) - No deduction shall be allowed in respect of los exchange prop b/w persons members of family (c)(4) brothers, sisters, spouse, ancestors, lineal descendants. (Other Code sections, siblings not related)

ii.
Loss is Realized, Recognized, Allowed, and not disallowed. 

c.
Ex1: H owns stock with a basis of $100 and a FMV of $180, which he acquired several years ago. H sells this property to his wife, W, for $180 in cash. Does H realize any gain?

i.
If he sells stock to independent third party -> Realization §1001 - $80 gain realized and recognized currently. (§1001(c) - recog unless Code provide nonrecog)

ii.
If sell prop to spouse for same $180, no gain recognized -> Deferred by basis rule -> Future recognition of gain 

iii.
W's basis of prop is $100 (H's old basis), so when she sells to indep third party, she picks up the $80 gain.

iv.
W takes H's holding period

c.
Ex2: H owns stock, acquired sev yrs ago, w/ basis of $90,000 and a FMV of $80,000. 

i.
While married, W pays H $80,000 cash for the stock

a.
§1041 - Nontaxable trans - She gift cash to him. He gift stock to her, rather than a sale or exchange -> No loss, so not worry whether or not it's recognized

b.
He can report the loss if sell in market -> taxable trans - realize & recognize

ii.
While married, W receives the stock as a gift from H

a.
Transfer is non-taxable trans and labeled a gift §1041(b), so built in loss could not be transferred

b.
xBasis rule - §1015 - special rule for basis to recipient of prop which depreciated in value in transferor's hands - Recipient of gift takes basis - lower of (1) Donor's cost of 90; or (2) FMV at time of gift 80

c.
§1015(e) - use §1041(b)(2) basis rules 

1.
§1041(b) - Interspousal transfers: W's basis = $90,000 (H's basis) (not same limitation as §1015)

2.
She's entitled to $10,000 loss b/c economic unit

iii.
W receives the stock pursuant to the terms of their divorce decree. In consideration, W agrees to release all of her marital rights in his estate

iv.
If W subsequently sells the stock for $80,000 3 mos after acquiring it

d.
Ex3: H and W purchased 200 shares of stock many years ago for $8,600, title as joint tenants w/ right of survivorship. Pursuant to divorce decree, new stock certificates were issued whereby H and W each owned 100 shares individually. The stock was worth $12,000 at the time of the divorce. 

i.
§1041 - Economic unit, not taxable unit, not look at state prop law

ii.
Each get half - $6,000; and each get half of basis

e.
Ex4: H and W purchased a personal residence many years ago for $30,000 as joint tenants with the right of survivorship. They were divorced this year. The home is currently valued at $160,000. Assume the mortgage has been paid in full. H gives W $80,000 for her half interest in the house.

i.
§1041(d) - H's basis in house is $30,000 b/c not a recog trans. H takes over their total basis in asset b/f split up asset. (B/f §1041 - H's basis = $80,000 of buy in half house + $15,000 in other half)

ii.
Non-taxable event when division. On subsequent division for cash, want highest poss basis so as much inherent loss as possible.

iii.
Assume, instead that for W's half interest in the house, H gave W stock purch two years ago for $60,000, which stock has a FMV of $80,000. Det whether any gain is realized and basis, holding period

a.
He ends up with house - basis - $30,000

b.
She ends up with stock - basis - $60,000 (b/c gift) -> she's better off b/c when she dispose of it, she only has $20,000 of gain to record -> he has more to record

D. Recognized Losses - Disallowed or Postponed

1.
Taxpayer report gain if 'realized and recognized'


Taxpayer can take advantage of loss if it is 'Realized, recognized, allowed, and not disallowed'

2.
Mother owned prop w/ a basis of $20,000. She sold the prop to her daughter for $10,000, its FMV. Can M deduct the loss?

a.
(1) Sale / dispos = Realized; (2) Nonnonrecog prov = Recog; (3) Assume is investment prop -> loss gen Allowed to M; (4) BUT Loss is disallowed by §267(a)(1) b/c sale took place to a related party 

i.
Prohibited relnship (b)(1) members of family, (c)(4) bros, sis, spouse, ancestors, lineal descendants)

ii.
Taxable unit concept - loss shouldn't be taken into acct until prop passes out of family 

iii.
No real sale to real indep 3rd party

b.
The daughter threafter sold the prop for $30,000. How much gain does the daughter recognize and realize? 

i.
Daughter's basis in the prop is $20,000 (carryover basis)

ii.
§267(d) - (not a basis rule) Rule which limits amt of gain she is required to account for when she sells for gain - In sale or exchange where loss that was not allowed to transferor as a deduction b/c related party and if later sells at a gain, than gain shall be recognized only to the extent that it exceeds so much of such loss alloc to prop.

iii.
If she sell for $30,000, then only required to recog $10,000 of gain, instead of $20,000. (M not allowed take $10,000 loss on prop b/c transfer to daughter)

iv.
If daughter sell for $16,000, then can use previous $10,000 loss to offset gain. Daughter's $6,000 gain offset by $10,000 real loss of mother not allowed to take -> No loss, no gain
c.
If the daughter sold the prop for $5,000 -> (she paid $10,000) $5,000 loss. 

i. 
§267(d) only applies to nonrecognition of gain and does not affect basis

d.
McWilliams v. Comm. - If H sell stock in mkt and W buy it, then is a 'sale or exchange of prop, dir or indirectly, at a loss to a related party' for purp §267(a)(1)

VIII. Timing of Income and Deductions

A. Tax Benefit Concept - §111
1.
Tax benefit rule - §111 - Equitable Rule - 'G.I. does not include income attributable to the recovery during the taxable year of any amt deducted in any prior taxable yr to the extent such amt did not reduce the amt of tax imposed' (Inclusionary rule and Exclusionary rule)

a.
income reported in yr of recovery and is taxable at rates in effect for the yr of recovery

b.
Ex: In Y1, S, a single taxpayer, had G.I. of $25,000. During the Y1, S paid $1,600 in state income taxes by having money withheld from his weekly paycheck. Because S also had $4,400 in other itemized deductions for the year, S deducted $6,000 in itemized deductions to arrive at his T.I. §63(d), (e). The following Jan, in preparing his Y1 state income taxes and that he is entitled to a $600 refund from the state. During Y2, he received a $600 refund from the state. Assume the standard deduction remains $3,000.

i.
Y1

G.I.

 $25,000

 
Itemized deduct
 $6,000 
/ Paid state income taxes 
$1,600 







\ Other item deduct

$4,400


Personal exempt
 $2,000

Taxable Income
 $17,000


Y2

$600 refund from state 


Standard deduction $3,000

a.
§111 - Equitable Section - see if $600 reduce tax liability in Y1. If Scott only paid $1,000 in Y1 ($1,600 state taxes paid - $600 refund) -> his taxable income would have been $600 higher. -> $600 is to be included in his G.I. when he does in fact recover it.

b.
Notion: Tax benefit rule deals w/ year of recovery and designed to roughly put taxpayer back in pos would have been if did not pay out additional $600.

c.
Alternative: Let amend return in Y1 - reduce itemized deductions so that taxable income would be $600 higher in Y1. But not consistent w/ annual accounting. Deal with recovery in year of recovery.

ii.
Assume S's other itemized deductions for Y1 totaled only $400, so that his Y1 itemized deductions only $2,000 -> S would have taken standard deduction -> no tax benefit when $600 returned (no impact on tax liability when paid it over in Y1) -> so not include in G.I.
iii.
Assume that other itemized deductions for Y1 totaled only $1,800 so that his itemized deductions totalled $3,400 -> he would not have taken $3,000 standard deduction -> additional $600 payment only gave him a $400 benefit -> only $400 should be included

2.
Tax Benefit Concept and Charitable Contributions - §170
a.
Alice Phelan Sullivan Corp. v. U.S. - Taxpayer donated prop to charitable contribution and claimed a deduction -> T recovered prop in later year

i.
§170 - When T donate prop to charity, entitled to treat FMV of prop as donated amt 

ii.
In yr of recovery, if tax benefit -> inclusion at current tax branket 

b.
Advantages of donate appreciated capital assets to a charity. Assume an indiv owns stock held for more than one year, worth $100 with a basis of $25. A charity needs $100 to support its activities. Are the indiv and the charity better off if the indiv contributes the prop and the charity sells it, or if the indiv sells the prop and then contributes the net proceeds after taxes?

i.
Amt of gift to charity = $100. Donating taxpayer not have a realization transaction on donating the property. So the $75 appreciation goes untaxed to the donor

ii.
-> Beneficial to give appreciated prop to charity as opposed to cash (b/c after-tax $)

iii.
Gen rule: §170 - Amt of char contribution = FMV of prop donated
c.
Ex: 15 yrs ago, S purchased a parcel of vacant land in San Diego for $1,000. 10 yrs ago she donated this vacant land to the city on the condition that the city construct a library on the land w/in 10 yrs. 10 yrs ago, the land was worth $5,000 and S properly deducted $5,000 on her tax return as a charitable contribution. (She received the full benefit from this deduction b/c she had suff other itemized deductions.) The city failed to build a library w/in the 10yr deadline, and this year returned the land to s when its value was $7,000. S was in the 15% marginal income tax bracket 10 yrs ago. Today, she is in the 36% bracket. 

i.
Y1 - Deduction for char contrib $5,000 (15% bracket) -> Tax benefit = $750


Y10 - Recovery: Inclusion Prop returned to her (36% bracket) -> Tax conseq = $1800. 

a.
Tax cost notion - cost her $5,000 income to get prop back - inclusion is a fcn of deduction more than cost of acquire prop  (value prop apprec + $2,000) (not unwinding it perfectly)

b.
$5000 included in G.I. at 36% at year get back. Basis prob $1000 in unwinding notion (strong just for $5000 tax cost basis)

c.
Basis is $1,000 -> If sell for $7,000 - consistent w/ tax benefit rule - unwind trans at today's rates.

ii.
If didn't get deduction for any of donated land -> 0 G.I.

iii.
§1341 is opposite scenario from §111 b/c is distortion of annual accounting. Lewis, North American Oil - (1) Y1 inclusion; (2) if find out in Y2 not have claim of right -> can deduct at prior yr's rate 

d.
If value of prop decrease from when donated -> recovered (i.e. $5000 char deduct; $1000 FMV of prop when returned to her) -> G.I. limited to $1000 (Rosen v. Comm - include in income only the FMV of prop when it was returned, thos smaller than amt previously deducted) - (tho not consistent with unwinding)

B. Cancellation of Indebtedness

1.
When C lend D $ Y1 and D repay $ Y2 -> no income or deduction (no accession to wealth)

2.
If D goes bankrupt Y2 -> C can take a bad-debt deduction at his tax bracket

a.
Gen notion: Debt cancelled -> D have income to extent debt is cancelled (§61(a)(12); Kirby Lumber)
b.
§108(a), (b) -> Exclude that income when taxpayer bankrupt -> Defer the inclusion by reduce the basis of the property of the taxpayer

i.
Policy: Defer to a later time. Not require to include that accession to wealth in G.I. in year when insolvent (b/c no wealth) 

3.
In Y3, D after bankrupt in Y2, repays the $ to C tho discharged -> 

a.
C: §111: 'G.I. does not include INCOME attributable to recovery during the taxable yr of any amt deducted in any prior taxable yr to the extent such amt did not reduce the amt of tax imposed.' If viewed as GIFT -> §102 exclude and §111 not apply.

b.
D: No deduction of payment b/c he didn't have income as a result of cancellation of indebtedness

4.
Ex: X, Y, and Z each owe their bank $8,000. Each incurred the indebtedness in conn with property used in their respective bus. Although solvent, X has financial problems and is unable to pay his loan. The bank finally writes off X's loan as uncollectible and cancels it. Y owns stock held as a capital asset, which he acquired 2 yrs ago, worth $8,000 and with a basis of 0. Y transfers the stock to the bank in return for cancellation of the loan. Z is able to have the loan cancelled by performing $8,000 worth of services for the bank. In all 3 situations, the debtors have $8,000 of income. 

a.
X: $8,000 ord income - §108(a) - not excluded b/c not insolvent, not bankrupt - Cancellation of indebtedness income 

b.
Y: Transferred stock worth $8,000, w/ basis of 0. Has gain from sale / exchange of stock b/c treat as person pay w/ cash same as person pay w/ prop - cap gain. 

i.
If Y pays w/ prop worth $7,000 in complete satisfaction of debt, and bank cancels $8,000 debt -> (1) $7,000 of cap gain (28% max rate); (2) $1,000 debt cancellation - ord income (39.6% max rate); but might get deferred §108

ii.
If insolvent, bankrupt, or real prop indebtedness, §108(a) may apply to (2) cancel of indebt income (not to (1) exchange of prop income)

iii.
If can't value the prop -> $8,000; all is exchange gain. (could be good) but 'rare and unusual circum that can't value property' (Kirby Lumber)

c.
Z: Services income = Ordinary income (is not cancel indebt income)

i.
Better if can classify as cancellation of indebtedness income b/c potential for insolvency exception and can be deferred (Z can't)

5.
Ex: S, a cash method taxpayer, takes $1,000 from her employer's petty cash drawer. She leaves an unsigned note which states, "I have problems. I'll return the money when I can."

a.
(1) Loan -> no income? Consensual oblig to repay? (James) sometimes can be one-sided. (2) Stolen the money -> has income?

b.
If repay $1,000, not deductible if it is a loan. If it is stolen prop -> repayment -> deduction => may not be valuable b/c only if offset income

c.
Assume in Y2, S's employer learns that she took the money to pay for an operation and tell S she not need pay it back -> (1) If was loan in Y1 -> cancellation of indebtedness income; (2) If gift -> no income in Y1, no cancel indebt income; (3) If $1000 includible as proceeds of theft Y1 -> nothing to include Y2. Later cancellation shouldn't change initial classification

d.
Assume same facts as (c), but in Y2, S owns a home, current val $100,000, and has debts, including a home mortgage loan and credit cards, of $110,000 -> INSOLVENCY EXCEPTION - exclude cancellation of indebtedness income §108(a)(1)(B). 

i.
Insolvent - Excess of liabilities oveer FMV of assets at time immed b/f discharge - §108(d)(3) -> not give rise to income under §108(a)

ii.
Not necessarily a perm exclusion. §108(b) - Amt excluded as result of insolvency exception are not excluded forever, but actually are deferred.

a.
Basis - tax attributes are to be reduced for amt excluded under §108(a), (b), (c)

b.
Ex: $1000 indebtedness to employer -> insolvency -> no G.I. now -> Basis  of her assets goes down from 5 down to 4, so later on when she sell asset, she'll pick up $1,000 of income (even if capital asset, so char of gain picked up will be same as income would've been had she had to include the $1,000 discharge of indebtedness b/c original reason for non-inclusion is gone.

c.
Kirby Lumber - notion of freeing of assets (include discharge of indebtedness in income) 

1.
But if insolvent, no assets being freed up. 

2.
Policy - ~Bankruptcy, why kick taxpayer when down -> Deferral give taxpayer a fresh start (running start)

e.
Assume in Y2 that a friend pays the $1,000 back to S's employer -> probably a gift (Old Colony Trust) 

i.
Exceptions - 'amt which would be includible in G.I.' §108(a) not apply if GIFT

C. Methods of Accounting

1.
Introduction

a.
Gen rule: Use same tax accounting method as financial accounting method (books)
i.
§446(a) - ' Taxable income shall be computed under method of accounting on basis which regularly compute income in keeping his books.'

ii.
Permissible methods - §466(c)

(1) Cash method

(2) Accrual method

b.
If no books -> Cash method
c.
§446(b) - Regardless of gen rule, and taxpayer picked acceptable method of accounting, Commisioner has discretion to come in and require that items be accounted for differently when Comm find method does not clearly reflect income.

d.
§441 - require taxable income be computed on annual basis. 

e.
Accrual method required by Code for most businesses - §448 

f.
RCA - Comm follows tax accounting rules, not financial accounting rules, tho underlying principals and goals may differ

2.
Cash Method

a.
Item of income includible when 

i.
it is actually or constructively received (so T can't unilat change receipt of income in abusive way by turn back funds)

a.
Ex: D, dentist fixes teeth on Dec 15. He bills the patient for $100 on Dec 20; the bill is paid on Jan 15. -> Fee is gross income §61(a)(1) -> §451 - Report the fee in Y2, when actually (or constructively receive) the fee
b.
Ex: D sues X for breach of K, alleging damages of $7,000. Three years later, D is awarded a final judgment in the amt of $6,500. In the 4th yr, the judgment is paid in full 

1.
Actual receipt of cash - when judgment is paid, Y4. B/f no opportunity to get hands on cash. 

2.
Unlikely that judgment viewed as cash equivalent

ii.
Cash or cash equivalent 
a.
Ex: D rendered a bill and took a negotiable note for $100 as payment for svcs in Dec; it was paid in Jan. -> Actual receipt of note (promise to pay, obligation) = Cash equivalent. 

b.
Check is same as cash. Receipt of check = receipt of G.I. in face amt of check

c.
Even if got check on Dec 31, after all banks close and could reduce check to cash -> doesn't matter, check is same as cash

d.
However, where it is known, payor not have suff funds in bank, check becomes merely promise to pay -> cash equiv test b/f receipt of check = receipt of current G.I.

e.
Cowden v. Comm (5th Cir) - FMV of debt instument taxable on receipt if oblig is cash equivalent. Taxpayer does not have to transfer the oblig to be taxable, just have to be transferable

a.
Unconditional

b.
Assignable

c.
Not subject to set-offs

d.
Kind frequently transferred to lender at a discount, not greater than prevailing premium for use of $

f.
Rev Rul 68-606 - Service only look at (i, ii, iii), not look at (iv) 'on disposition, wouldn't give too great a discount from face value. Should only reflect time value.' (i.e. If FMV taxpayer must accept is substantially less than face value -> not include?)

iii.
Economic benefit
iv.
Deferred Compensation arrangements
a.
Economic Benefit
i.
Sproull v. Comm - Where petitioner's employer transfered in trust for the petitioner in '45, $10,500, and trustee to pay out of principal, half in '46 and have in '47. Ct: Includible in income in '45 b/c economic benefit conferred to him since comp fixed at $10,500 and irrevocably paid out for his sole benefit.

ii.
Rev.Rule 60-31 (came b/f §83) - Includible in '57, year in which club unconditionally paid such amt to the escrow agent (as bonus for football player sign contract, and to be paid in installments over 5 yrs) b/c current economic benefit. No contingencies, only time -> current income of FMV of current interest

iii.
Current economic benefit - If funds are set aside escrow or trust, unconditionally and they are free from claims of payor's creditors - Payee too assured - (-> Payee gets it. Gen creditors don't get the funds) 

iv.
Codified in regs under §83 (i.e. Reg §1.83-3(e) - escrow or trust) If she has rights to property that is not forfeitable -> FMV of real and personal property = Current income. 

v.
Matching concept b/w payor and payee - §404(a)(5) - Deferred arrangement -> to the extent payee sucessfully defer taxation of the income, they also defer the deduction of payor (regardless of payor's method of accounting)

b.
Constructive receipt 

i.
Cash method taxpayer can enter deferred compensation arrangements successfully for tax purposes, as long as agreement entered into prior inception of employment arrangement. Not matter if payor ready and willing to transfer funds to pay. Not matter if payee request deferral. 'A mere promise to pay, not represented by notes or secured in any way, is not regarded as a receipt of income within the intendment of the cash method.' (Rev Rule 60-31)

a.
Requires employee's election to defer payment must be made b/f tjhe beginning of the period of service for which compensation is payable. (Pd svc = employee's taxable year for cash basis, cal yr T) (Rev.Proc 71-19 - for ruling purposes)

ii.
Service allowed some exceptions to rule that need prior to period of service (Rev.Proc. 92-65) 

b.
Deductions may be taken account when expenditures are made, when paid - Actual payment - §461 (no concept of contructive payment - Van der Kohl)

i.
mail a check = payment

3.
Accrual Method
a.
Not on basis of receipts or payments

i.
Income - (1) is an item of G.I.; (2) When is it included? Fixed rights - When earn right to income -> includible

ii.
Deduction - (1) is deductible; (2) When is it deductible? When fact of liability -> Deduct

b.
Income is includible when All events test  

(1) all events which fix the right to receive the income and 

(2) amount of income can be determined w/ reasonable accuracy 

c.
Deduction can be taken when 

(1) All events which determine the fact of liability and 

(2) amount of income can be determined with reasonable accuracy and 

(3) Economic performance has occured

d.
Ex: As income is earned, it is included (i.e. As Dentist performs services, income is earned b/c fixed right to income come into being -> report income). 

i.
Doesn't matter whether he rendered a bill. (Billing isn't necessary)

ii.
Not matter whether get cash in Jan or note / check in Dec.

iii.
If ~ $100, not sure of amt -> OK. As long as amt reas accuracy ascertainable 

e.
Notion of matching - Match income receipts from perform against expenses or costs of perform, which are deducted so reflect net income from activity (Based on financial accting)

f.
Reasonable Accuracy  

i.
Continental Tie - Income accrued in 1920 even tho not crystal clear how much gov't owed taxpayer b/c by can calculate by own books reas est. how much get from gov't (though final determination not til 1923)

ii.
Reasonable Accuracy requirement - Not read too strictly (If error -> make it up next year)

iii.
Ex - If Y1 V, accrual method, purchased a mine from S in Y1. The mine was not as profitable and in Y2 S admitted misrep and agreed to reimburse cash for his damages. If amt not agreed on in Y2, V can still accrue income that yr b/c Reasonable Accuracy Test is not a strict reqmt.

g.
When payment precedes earning of income, perform services -> problems (RCA)

h.
Ex: D sue X for br K, 3 yrs later awarded judgment $6,500, in 4th yr, it is paid in full. When judgment is awarded, he has legal rt to amt. 

i.
§448(d)(5) - 'Accrual method acctng w.r.t. amts to be received for the performance of services by such person, he not req'd to accrue any portion of such amts which (on the basis of experience) will not be collected.'

ii.
X would want to accelerate the deduction in Y3, judgment rendered for $6,500 - (1) fixed oblig to pay $6,500 in future; (2) Amt determined by reas accuracy; (3) economic performance (§461(h))

a.
Time value issues (overstatement of deduction b/c when actually pay $6500 2 or 3 yrs down the line, PV ~ $6200) (B/f §461, If settlement is for tort or physical injury, X would agree, deduct whole now and get time value by put in bank -> less than what would have to pay P - P not care b/c tax-free to P) 

b.
avoid current deduction for face amount of a future payment. 

c.
Reg §1.461-4(g)(1) - Certain liabiities for which payment is economic performance
(2) Liabilities arising under a workers comp act or out of any tort, breach of K, or violation of law
(3) Liability of taxapyer to pay rebates and refunds
(4) Liability of taxpayer to pay awards, prizes, and jackpots
(5) Liabilitiy of taxpayer arising out of the provision to the taxpayer of insurance, warranty, and service contracts
(6) Liability of taxpayer to pay taxes
(7) If economic performance rules not provided elsewhere, economic performance occurs as the taxpayer makes payments in satisfaction of the liability to the person to which the liability is owed

d.
D has to wait to deduct until actual payment - §461(h)(2)(A)(ii)

4.
Ex: G, the sole owner of Metro Football Team, annually awards a cash bonus to the team's most valuable player after the playoffs in Dec. In Y1, H is announced as the winner on Dec 31 at the luncheon. H is not present at the luncheon. He learned of the bonus on Jan 2 of Y2 and picked up the bonus on Jan 15.

a.
Cash Method
i.
H -  no  income yet b/c no constructive receipt, no escrow, no trust 

a.
Constructive receipt 

1.
Tax Ct - In order to turn you back on available funds, you have to know it's there (Davis v. Comm)

2.
Service disagree - Not need knowing or volition. (Rev. Rule 76-3)

3.
Taxpayer tried to invoke constructive receipt when he was awarded a Corvette at 4:30 Sundary, Dec 31. Tax Ct found car cold not have been transferred to petitioner b/f Jan 1, not dependent solely upon volition of petitioner. (Hornung v. Comm) 

ii.
G - When take deduction? When amt at issue is paid. Checks that clear in the ordinary course of business - Mail check = Delivery = Payment

b.
Accrual Method 

i.
H - When does his right to the bonus fix? Perhaps when announced

ii.
G - Deduct when (1) fixed oblig; (2) amt - reas accuracy; (3) economic performance has occured 

a.
Economic Performance Tests

1.
Liability result from services -> as services are provided - §461(h)(2)(A)(i) -> (1); (2); (3) met in Y1, if H provided services to G in Y1, then economic performance has occurred

2.
xLiability require taxpayer to provide property -> as prop is provided - §461(h)(2)(B) 

a.
Comm Report - Money is not prop for these purposes -> Cash bonus not fall in this rule. 

3.
If bonus is viewed as an award -> economic performance not occur til paid. (Prof: Compensation, bonus, not meant to be covered by Reg §1.461-4(g)(4))

5.
Ex: M, cash method, wants set fee w/ client. Services will be rendered over the succeeding 5 yrs, deductible by client under §162. M agrees fee will be $75,000 and propose a security arrangement where client pledge stock, as security worth $75,000 with a bank, and as client pays, bank release to client equiv amt stock to M. If payment not paid, bank release to M equiv of stock -> 

CASH METHOD
(2) This note is a cash equivalent b/c is current income on receipt of note FMV

(3) §1.83-3(e) - Property for services - is economic benefit. - So if M gets a security agreement, paid over 5 yrs, not clear if she has an int in the prop when these assets are set aside. (Facts unclear)

(1) Can avoid constructive receipt - Rev.Rule 60-31 - M can defer receipt of comp even if otherwise would've earned full in 1st yr, if Agreement prior to period render servces. Service will issue an advance private letter ruling on this arrangement to pay. But even if defer receipt of cash, and avoid constructive receipt, may still be current income for cash method b/c cash equivalent. 

ACCRUAL METHOD
a.
If no prepayment -> no income til earns it by perform services and know rate w/ reasonable certainty -> Have G.I. 

b.
Assume she gets $75,000 in Y1 for services provided Y2-Y6. She's paid up front in Y1 but she hasn't earned anything -> She had to include prepaid income on receipt
c.
Rev.Proc 71-21 allows for a limited deferral of prepaid service income - if svcs to be performed b/f end of Y2, income received in Y1. Doesn't help M b/c nature of K (TOO LONG). If M got $75,000 in Y1 under K, and say complete by Y2 -> 71-21 could apply and she can report alll $75,000 in Y1 or may defer report as earned Y2. - Rev.Proc 71-21 §3.02. (Comm can say not clearly reflect income) 

d.
Can client deduct costs in Y1? Met 2 prongs of all events test: (1) Amt liability fixed or contingent? Fixed b/c cost of performance (but liability contingent upon perform, and might not perform); (2) det w/ reas accuracy. Assume cost $50,000 over 5 yrs. A current deduction today for an anticiapted expenditure would overstate her current deduction b/c PV of cost of future performance less today. (§461(h) - Economic Performance). Deductions delayed b/c M hasn't incurred cost of perform or rendered services. (M doesn't know exactly when perform the services)

6.
Accrual Method Taxpayers: Advance Receipts and Premature Accruals
a.
RCA Corp. v. U.S. - Receipt of advance payments for service contracts. Services avail on demand 3-24 mos. Prepaid income -> Service, Sup Ct - Must report $75,000 when received -> Prepaid amts assuming would otherwis be income constitute G.I. when received by accrual method taxpayer. 

i.
Clear reflection of income test- §446(b) - Taxpayers are supposd to report for tax purposes on basis of book purposes -> clearly reflect income and perfectly acceptable. -> Taxpayer unable prove w/ certainty provide better match income w/ revenues at particular time. No proof -> Tax system no allow tax deferral.

ii.
Distinction b/w financial accounting and tax accounting (Power Tool v. Comm, Schlude - Comm rejected method of 'as earned' for dance lessons on demand of students during contract term). Policy: 

a.
Financial Acctng goal - To provide useful info. 

b.
Tax accounting goal - Be conservative, not want overstate income or understate deductions - want provide conservative picture of ongoing bus. Raise revenues on an annual basis. If cash at hand -> accrual method must report. Tax system not based on mere predictions as to when the funds are to be earned, can't be based on uncertainties
iii.
Service: Accrual method taxpayer has income on earlier of time amts are due, paid or earned 


2nd Cir: Whether Commissioner had adequate basis in law to comclude 'did not clearly reflect income.' -> Wide latitude to Commissioner

b.
Rev.Proc 71-21 allows for a limited deferral of prepaid service income - if svcs to be performed b/f end of Y2, income received in Y1
7.
Accrual Method Taxpayers : Reserve for Estimated Expenses

a.
Mooney Aircraft - Taxpayer unconditionally promise bay bearer of 'Mooney Bond' $1,000 when corr aircraft perm retired. Amt too far in future -> Deduct only when aircraft retired (amt too large) 

b.
§461(h) - Deduction not allowed til economic performance.

c.
If  environ pollution - offshore oil rig, and liability was fixed -> §461(h) - Deduction not allowed til econcomic perfomance. (Code not: If 20 yr lease, can figure out PV of future $ have to be spent, can currently deduct)

IX. Timing of Deductions: Capitalizaton Requirement

A. Generally

1.
Asset or benefit acquired which will last substantially beyond the year which made expenditure, can't totally  in year of payment, may recover over time, if asset has ascertainable useful life (wasting asset - i.e. Building)

2.
If purchase an asset whose useful life extend substantially beyond, so is not a wasting asset w/ useful life -> can only recover on disposition, abandonment (i.e. Stock, Land - not a wasting asset)  -> Should distinguish b/w cost of building and cost of land
3.
Distortions that could be caused by immediate deduction of expenditure that should be capitalized.

a.
Mismatch

b.
Exempt income from tax (Before and after tax rate of return on income-producing asset will be same if allow deduct immediately)

B. Expenditure v. Expense (Repairs - Ordinary; Improvements - Capital)

1.
Capital expenditures include cost of acquisition, construction, or erection of buildings, machinery and equipment, furniture and fixtures, and similar proprerty having useful life substantially beyond taxable year. (yr cost incurred) - Reg §1.263(a)-2(a)

2. 
Code require Capitalization, opposite of Expensing - Matching Concept (i.e. Dentist buy a drill, last 5 yrs, no salvage value -> If each yr it produce $1800 of fees and drill cost $500 -> if dentist can deduct $5000 immediately -> Y1 $3200 loss, and Y2-Y5 $1800 of income -> DISTORTION)

3.
Capitalization rules - Asset produce income over ascertainable useful life -> capitalize and recover over income-producting period - Match cost with income produce by use. -> Adjusted basis §1016(a)(2) - If entire cost reovered (sell for salvage value after 5 yrs -> at end of period = 0.

4.
Intangible assets have to be captialized too (i.e. K, insur policy) 

a.
Welch v. Helvering - Reputation and learning = Capital asset

b.
Reg §1.263 - 'Expenditure paid for a benefit or asset who's useful life extends substantially beyond yr of payment'

c.
Ex - If Accrual method T in auto sale also sells 3-yr auto warranty K to her customers. A cust fulluy pay for a K in Y1 and T purchase 3-yr insur K, payingentire premium for ach 3-yr insur K in Y1 -

i.
Include income on receipt (RCA), in Y1

ii.
Deductions - If is expense -> must meet 3 part test - (1) all events fix oblig; (2) Amt det w/ reas accuracy; (3) Economic performance 

iii.
If amt paid for insur is not expense, but capital expenditure -> not deductible in yr of payment, have to be amortized over benefit period, useful life of asset.

iv.
Timing mismatch of income (Y1) and deduction (Y1-Y3) so cash flow problems -> Rev.Proc 92-97, 92-98 - Service allow taxpayer with just these facts to defer inclusion of portion of advance payment for waranty K and report over pd of service coverage under warranty K + Time value factor. 

5.
Currently deductible or capitalized? (Doctor on cash method for her practice)

a.
First see if can use §179 if want fastest method, depreciate most earlier - Supplies to be consumed in current year are deductible - Reg §1.162-3, -6. Typewriter prob for more than current yr. §179 - exception to gen rule - in certain cases, trad or bus expenses may be currently deductible up to $17,500 for a yr

i.
§179(a) - 'Taxpayer may elect to treat cost of §179 prop as expense which is not chargeable to capital accounts. Any cost so treated shall be allowed as a deduction for taxable year in which §179 prop is place in service.'

ii.
§179(b) - Aggregate cost which may be taken into account shall not exceed $17,500

iii.
Small trades or business - Ability to elect §179. 

a.
So if GM has more than $200,000 of 179 prop placed in service -> Reduce ability elect 179 (< $17,500) - §179(b)

b.
If GM has $400,000 of 179 prop placed in service -> entilted to NO 179 deduction

iv.
Incentive mechanism - encourage he investment b/c recover the cost faster -> PV of cash flow from investment more valuable

v.
If elect 179, can also take depreciation deductions in first year

vi.
179 property (§179(d)(1) - truly incentive mechanism for buy and acquire certain investments)

a.
tangible prop 

b.
Depreciable (to which §168 applies) 

c.
Personal prop, not real prop (which is §1245 prop - recapture of deprec on pers prop) 

d.
acquired by purchase for use in active conduct of trade or bus (as opposed to by gift or acquired in tax-free exchange)  

b.
Rents for long-term lease - §162(a) - ord and nec expense of run bus - for 5 yr benefit -> Capitalized

c.
Decorating - increase value of asset -> capital; 


Painting - Repair the asset -> Ordinary
d.
Professional Expenses - Pay for 3-yr's advance subscription to a medical journal -> Reg §1.162-6 - Professional may deduct cost of supplies used in practice of professon, expenses paid or accrued in op and repair of auto used to make rof calls, dues to prof societies and subscriptions to prof journals, utilities bills of offices, and hire of office assistance. Amts currently paid or accrued for books, furniture, and prof instruments and equipment, the useful life of which is short, may be deducted

e.
Prepaid Expenses - Prepaid insurance premiums, business related so deductible, but when? The coverage or benefit period last substantially beyond taxable yr -> Treat as capital expense. (Bolyston Market)

i.
1 Year Rule - Annual rents due Nov 1 of each yr for period Nov 1 - Oct 31 of next year -> 1 year benefit -> Can deduct for this year - Reg §1.263(a)(2)(c)

ii.
If 18 mo lease May 1 Y1 to Oct 31 Y2 and prepay on Y1 - Benefit not substantially extend year of payment -> Deductible currently - Reg §1.263-2(a)
f.
Takeover Expenses - Fees paid to M.S. to explore opportunity for friendly takeover Sup Ct -> Capitalize b/c expense result in co's realization of benefit beyond the year the expense was incurreed - Seems to benefit a # of yrs. 

g.
§263: Can't currently deduct expenditures for profit-seeking, investment activity (~§212) that is being capitalized (i.e. Brokerage commissions). Exception for personal-use property - not depreciable
C. Cost Recovery Methods

1.
Introduction

a.
§263 - requires capitalzation of cetain expenditures which create assets with a useful life extending substantially beyond the close of the taxable year -> can't take current deduction under §§162, 212 for full amt of expenditure in year asset acquired or placed in service, but gen deductible in future years

b.
Depreciation methods - allow taxpayer to deduct the cost of eligile property over a certain time period 

i.
asset's useful life for assets subject to traditional depreciation or 

ii.
a statutory recovery period for assets subject to the ACRS

c.
If the cost of an asset must be capitalized but is not depreciable prior to the disposition, the cost of the asset is recovered as an offset against the amt realized in computing gain (or loss) realized on the sale or other disposition of the asset.

d.
Straight line Method: Annual depreciation deduction = Cost - Salvage Value








   estimated useful life

e.
Accelerated Methods - permit taxpayers to allocate larger depreciation deductions to the early years -> reduce current yer's tax liability & defer payment of taxes
i.
Double Declining Balance Method = 2 x straight line rate x adjusted basis

ii.
150% Declining Balance Method = 1.5 x straight line rate

iii.
Policy: Incentive to invest in depreciable asset

2.
Economic Depreciation - Sinking Fund Depreciation

a.
Method is neutral - provide a better picture of annual decrease in value of asset or annual cost of provide income from asset b/c tax method won't be influenced by depreciable or nondepreciable asset

b.

Return          = Constant
Yield on a depreciable asset stay constant


Unrecovered Cost


(i.e. Bond yield 10% constant over time)

c.
As recover cost (unrecovered cost decr), take depreciation -> profit should decrease (i.e. If $3,000/year yield, if depreciation deduction increase -> net from asset decrease as investment decrease)

d.
Asset purc for $11,300. PV of annual payments of $3,000/yr. (10% semiann int)


start of Y1 
PV of investment = 3000     + 3000     + 3000 + 3000 + 3000




    
     (1+.1/2)2  (1+.1/2)4




 
11,300    = 2721      +  2468    + 2239 + 2030  + 1842 


Depre deduction        Y5 
    Y4
        Y3       Y2          Y1

3.
Accelerated Cost Recovery System

a.
Tangible property place in service after 1980 - the depreciation deduction provided by §167(a) is determined under ACRS - §168(a)

i.
The applicable recovery period - §168(c)

ii.
The applicable depreciation method - §168(b)

iii.
The applicable convention - §168(d)

b.
Policy
i.
Provide investment stimulus essential for economic expansion

ii.
Simplify

c.
Recovery periods
i.
§168(e) - If ADR guideline life of machine = 10 yrs -> Property treated as 7-year property 

ii.
-> §168(c) applicable recovery period = 7 yrs

iii.
-> 8 taxable periods if taxpayer hold prop for entire recovery period


Half year convetion - Yr of acquisition = 1/2 yr





    Yr of disposition = 1/2 yr

d.
Depreciation Methods
i.
Taxpayer have choice to elect 150% declining bal method or straight-line method

ii.
§168(b)(2)(C) - If elect 150% b/c may not have suff income to absorb the deduction -> use Recovery period in (g)(2)(c), not (c)(1). Recovery pds in (g)(2)(c) longer so take slower deprec 

iii.
150% mehtod for 15-yr or 20-yr prop, prop in farm bus - §168(b)(2)(A); (B)

iv. straight-line - nonresidential prop, residential rental prop, RR - §168(b)(3)

Example - H bought machine for use in bus at cost $110,000 and ADR guideline life of 10 yrs and salvage val of $10,000. 

i.
Straight line
Double Declining Balance (salvage value treated as 0)


1/7
Y1
200% x 1/7 x Basis 110,000 = $15,719





        2 (half-yr convent)


1/(6 1/2)
Y2
200% x 1/7 x (110,000 - 15,719) = $26,945


1/(5 1/2)
Y3



1/(4 1/2)
Y4


1/(3 1/2)
Y5
2 x 1/7 x $ = $ x 1/(3 1/2) SWITCH TO STRAIGHT LINE



1/(2 1/2)
Y6


1/(1 1/2)
Y7


1/(1/2)
Y8

ii.
If sell prop in end of Y1, Adjusted basis = $110,000 - 15,719 = $94,281

iii.
Technically, any sale in Y2 -> Depreciation  only enter 1/2 year = 1/2(26,945)

iv.
If could've used §179 -> Deduct $17,500 in Y1 & Will reduce his basis in Y1 = $110,000 - $17,500 = $92,500.

e.
Depreciation Conventions
i.
Half-year convention applies to all depreciable property - §168(d)(1), (2) - Asset deemed to have been placed in service in he middle of the year regardless of when it was actually placed in service by the taxpayer = §168(d)(4)(A)

a.
Half year of depreciation also allowed for year in which perperty is disposed of, or is otherwise retired from service, regardless of when the disposition actually occurs. - §168(d)(4)(A)

b.
If taxpayer continues to use depreciable property after the end of its recovery period, no further depreciation deductions are allowed because he has deducted his entire basis in the property.

ii.
Buildings - both resdential rental property and nonresidential real property - mid-month convention applies - §168(d)(4)(B)

a.
If the building has not been fully depreciated by the time it is disposed of, it is treated as having been disposed of in the middle of the month that the disposition occurs.

iii.
If the aggregate bases of 179 property placed in service duringthe last 3 mos of the taxable yr, exceed 40% of the aggregate bases of 179 prop placed in svc during such taxable yr -> Mid-Quarter Convention for (1) Y1 and (2) last Y of period - Disposition.

a.
i.e. If H bought mahinery in given tax yr and only 40% of prop bought ion Dec 1 of that yr -> Pretend he bought the prop in middle of last quarter = Nov 15. 


200% x 1/7 x 110,000 basis) x 1.5 
(allow deprec for only 1.5 mos of 12;






   12 
 instead of 6/12 mos - Half yr conv)

f.
Ex: T, 31% bracket buys apt building for $500,000 on Jan 1 ($450 - building, $50 - land) He invest $100,000 cash and $400,000 by give S mortgage note, person liable, payable over 25yrs. T receives gross rentals $52,500 yearly. Op expenses and R/E taxes $10,000/yr. His yearly mortgage payments are $42,500:



Y
Principal
Interest


1
$4,000
$38,500



2
$5,000
$37,500



3
$6,000
$36,500

i.
Cost basis in building = $450,000. Depreciation deductions over 3yr period. 

ii.
Assume op expenses currently deductible as ord and nec bus expenses - §212 b/c may not be in trade / bus of run apt building. Interest in bus context deductible - §212. Amortization portion of mortgage. 

iii.
Depreciation - Building - Residential rental prop -> (1) Recovery pd = 27.5 yrs §168(c); (2) Convention = Mid-month §168(d)(2); (3) Method - Straight-line §168(b)(3). (Land - Not depreciable)


Y1             1   Straight-line x 11.5 Mid-month x 450,000 Basis = $15,682.50



         27.5     
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Y2             1     x  $450,000 (straight-line, not reduce declining bal) = $16,362



         27.5


Y3          $16,362

iv.


Y1

Y2

Y3

Rent 
52,500
52,500
52,500
Income

Op Costs   10,000
10,000
10,000
Deductions


Mort int
38,500
37,500
36,500


Deprec
15,682
16,362
16,362



(11,680.50)
(11,365)
(10,362)

v.
If T sells building in Y3 -> Adjusted Basis §1016(a)(2) -> Can only depreciate portion = 450,000 - Y1 deprec - Y2 deprec -Y3 portion deprec


If sell in Dec of Y3 -> same dep as Y1

vi.
If sell building in Y4 -> A.B = 450 - Y1 dep  - Y2 dep - Y3 dep - allowable dep in Y4

4.
Depreciation (ACR) as a capital expenditure
a.
Ex: H, who runs a dry cleaning bus, devotes a substantial portion of his time to constructing a new plant in Y1. How should he account for (capitalize or deduct) the cost of the following outlays

i.
Cost of materials, $100,000 -> Has to be capitalized b/c not incured in conn w/ generate income

ii.
Salaries paid to employees to construct  the plant, $200,000 -> 'The taxpayer has capitalized, as part of its cost of acquisition of capital assets, the op and maintenance costs' (Comm. v. Idaho Power)

a.
Reas wages paid in the carrying on of a trade or bus qualify as a deduction from G.I. - §162(a)(1)

b.
But when wages are paid in conn w/ the construction or acquisition of a capital asset, they must be capitalized and are then entitiled to be amortized over the life of the cap asset so acquired

iii.
Recovery deduction, $10,000, for the cost of a machine purchased on Jan 1 of Y1 and used in Y1 solely to construct the plant -> Can't take current deduction

 a.
Question of timing - whther the construction-related depreciation to be deducted over shorter life of equip or amortized and deducted over the longer life of the capital facilities constructed (i.e. over life of builing 39yr)

b.
§263 and capital rules take precedence over §162 and §212

c.
Today, Comm not need Idaho Power - §263(a) requires construction-related depreciation to be capitalized as part ofbuilding

b.
Policy - If not require capitalization of contrution-related depreciation -> lead to disparate treatment among taxpayers involved in self-construction and those involved in purchase of a facility (all cost in constuction, including deprec in equip reflected in purch price of facility) -> Construction-related dep should be included in depreciable basis (Buyer's cost) -> Match income to cost of produce income.

5.
Non-depreciable items
a.
Factors - Whether depreciation deduction available for an asset - §§167, 168

i.
Used in a trade or business

ii.
Has a limited useful life which can be estimated with reasonable accuracy - i.e. a wasting asset

b.
Intangible assets not eligible for §168 ACRS

i.
cetain intangibles may be depreciated under §167 if the limited useful life standard is satisfied

ii.
Other intangibles may be depreciated under §197 (1993)

c.
Depreciation is limited to items subject to "wear and tear, to decay or decline from natural cuases, to exhaustion, and to obsolescence" - Reg §1.167(a)-2. These are not wasting assets and may not be depreciated

i.
* Inventories (or stock in trade)

ii.
* Stock in a corportaion

iii.
* Raw land

iv.
Antiquies - no determinable useful life

v.
200-year old violin - not believe useful life of only 12 yrs

vi.
Model homes of builder - use only temporary

vii. Automobile dealer's display car - "

5.
Expensing the cost of certain business assets - Whether an expenditure is currently deductible or must be capitalized - §179(a) - Provides an election to deduct up to $17,500 of cost of certain expenditures that would otherwise be capitalized

a.
§179 property - limited to tangible personal peroperty that is depreciable and that is used by a tazpayer in the active conduct of a trade or business - §179(d)

b.
§179 election is not available for perperty used in a §212 investment activity

c.
Election does not apply to buildings 

d.
Election limited to small businesses - amount that may be expensed under this election decreases as total annual capital expenditures exceed $20,000 - §179(b)(2)

e.
Amount that may be expensed is limited to the taxable income derived from any trade orbusiness which the taxpayer actively conducts - §179(b)(3)

f.
Subsequent conversion of expensed prop to personal use b/f end of ACRS period -> taxpayer report as income excess of expensed amt over ACRS depr deduction

g.
If taxpayer cannot deduct $17,500 b/c decution exceeds taxable income limitation -> Unused portion may be carried over to subsequent taxable years, elegible for election - §179(b)(3)(B)

X. Interest and TVOM

A. Interest Income

1.
Tax Expenditure Policy
a.
Primary goal of income tax - raise revenue (equitably)

b.
If government foregos revenue, foregos federal funds by allow for deduction which departs from normative tax base -> way of spending money, forego collect tax when could collect tax

i.
Ideal tax base - Haig-Simons -> departures from ideal may be tax expenditures where Congress

a.
Fails to include something in tax base or

b.
Provides a deduction

ii.
Some departures not viewed as item of tax expenditure - (i.e. realization requirement)

c.
Tax incentive - When gov't allow deduction for charitable contribution = provide religious and educational institutions with assistance, incentive through the tax system (i.e. rapid depreciation = incentive)

i.
Is it appropriate or is it worth it?

ii.
Maybe alternative, direct spending program is better

d.
Progressive Rate Structure - Upside down subsidy

i.
Higher income pay higher tax on last $ than those who make less $ -> high income get bigger subsidy than low income

ii.
Direct subsidy - (i.e. housing allowance) can give same amount per person

a.
But tax system less cumbersome than direct subsidy by gov't b/c have IRS, tax system in place -> not need set up another agency and more costly

iii.
Credit - if want incentive through tax system to work evenly for everyone, then credit $ / $ writeoff

2.
§103 exempts interest from state of local bonds from gross income
a.
Purpose
i.
Reduce cost of borrowing or state and local governments

ii. 
Exclusion from gross income can be viewed as indirect subsidy from federal government to state and local governments

iii.
Alternative is to provide transfer payment (direct subsidy) from federal government

iv.
Cost-benefit - Fed gov't loss the $ which would otherwise been collected on a corp bond $360 = Gain to municipality ($1000 - $640 = $360)

b.
Corporate bond - 10% (taxable), Muni bond - 6.4% (non-taxable)

i.

   36%

15%

Put in
10,000

10,000


Int
  1,000

     640


G.I.
  1,000

         0


Taxes
     360
150
         0


Net
     640
850
     640

ii.
Taxpayer indifferent whether by Corp bond or Muni bond. If Muni bond pay more than 6.4%, then Corp bond not as interesting to investor

iii.
Pays for the 36% taxpayer to buy 8% tax-free bonds v. 10% taxable bonds b/c Net $800 v. $640

iv.
If make Muni bond more attractive to 15% bracket taxpayer, then should pay 8.5% so net same $850 that Corp bond yield -> Incentive to low and high bracket taxpayer same

v.
Benefits and Burdens - Fed gov't lose b/w $360 and $150 when provide for tax exemption for municipality issue tax-free bonds. State issuer - gain is $150, assuming all state and local have to go to 8.5% to attract low bracket taxpayer also

B. Interest Deduction

1.
General Rule - §163(a) - There shall be allowed as a decution all interest paid or accrued within the taxable year on indebtedness
a.
Assume A, B, C have $100,000 of assets which produce $10,000 of cash income per year. 

i.
A Equity purchaser buys home with cash so not G.I. from account, no deduction b/c not borrow $

ii.
B Debt purchaser keeps $ in account and borrows $100,000 to purchase same home as A. Interes cost $10,000 per year on home mortgage loan (assume deductible)

iii.
C keeps $ in account and uses $10,000 per year to rent -> end up with $10,00 taxable income

iv.


A
B
C

A
B
C


G.I.

0    10,000  10,000
      10,000   20,000    10,000


Deductions
0    10,000
 0

0      10,000
0


Taxable Inc
0
0     10,000
      10,000   10,000    10,000

v.
If Code allow for unlimited deduction for personal interest or consumer curables (i.e. home) then equity and debt purchaser will be put in same position, not C

vi.
If tax system (a) impute income from use of owner-occupied housing and (b) allowed interest deduction -> A, B, C in same boat. Imputed income for B has incoe producing effect -> interest deduction justified, else only A & B equal 

2.
Individuals - Categories of Interest Limited as to deductibility 

a.
Disallowance of deduction for personal interest - §163(h) - In the case of a taxpayer other than a corporaton, no deduction shall be allowed under this chapter for personal interest paid or accrued during the taxable year

i.
Tracing rules - decide cateogry of interest as gen prop by trace use to which debt proceeds (principal) are put (i.e. Buy a car -> personal interest; Secure debt with GM stock and still buy car -> still not investment interest, but personal interst b/c use to which debt proceed are put)

ii.
Exceptions: 

a.
Qualified Residential Interest deduction - §163(h)(2)  

i.
Acquisition indebtedness - (I) incurred in acquiring, constructing, or sbstantially improving any quaified residence of taxapyer and (II) is secured by such residence

a.
$1mil limitation

ii.
Home equity indebtedness - Indebtedness secured by taxpayer's home -> interest not subjected to investment interest limitation, personal interest limitation, or passive interest limitation.

a.
To the extent of $100,000 home equity indebtedness, the use of the proceeds is irrelevant for other §163 limitations

b.
Not irrelevant for purposes of §265(a)(2) so if taxpayer purchases tax exempt bonds with debt secured by her home, the interest is not deductible

b.
Investment interest - §163(d)(1) - amount allowed as a deduction under this chapter for investment interest for any taxable year shall not exceed the net investment income of thetaxpayer for the taxable year

i.
Investment interest - §163(d)(3) - interest paid or accrued on indebtedness properly allocable to property held for investment 

ii.
Investment income and investment expenses do not include any income or expenses from passive activities taken into account under the passive loss rules of §469 - §163(d)(4)(D)

c.
Interest paid or incurred to carry tax exempt obligations - §265(a)(2) - If buy muni bonds with borrowed $, not entitled to deduct that interest b/c that is interest that is incurred to purchase obligations the interest on which is wholly exempt from income tax -> asset produce negative taxable income -> tax arbitrage

i.
Haverly - Books taxpayer received then donated to charity and deducted are included as gross income

ii.
Tax Arbitrage - Investment makes little sense economically, makes sense only b/c of tax system 

a.
40% taxpayer forrow $10,000 @8%, invest it in tax exempt bond yield 6% - not make sense absent tax system b/c takes in 6% to pay out 8% -> $200 loss

b.
Tax system - Interest is deductible, then make sense b/c can deduct interest

 
Int paid
(800)


Int received
 600



(200)


Save   
 320
40% bracket




120

iii.
If interest were deductible v. interest not deductible, Assume A & B each have $10,000, C doesn't 

a.
A use $10,000 to buy tax-exempt bonds which pay 6% - §103 - no G.I. for A; not borrow so not deduct

b.
B put $10,000 into taxable bonds which yield 8% and borrow $10,000 @8% and use borrowed funds to invest in tax exempt bonds 6% - has $1400 come in - $600 of tax exempt and $800 taxable; B entitled deduct $800 interest he paid out -> 0 income so worthwhile to borrow

c.
C borrow $10,000 @8% to invest in tax-exempt bonds @6% - if no deduction, this not make sense (2% loss) but tax system -> may make slight profit

i.
If in 30% bracket, deduction save C $240, so net $40 out of deal

ii.
If want C able to invest though no cash

d.
Everyone engages in uneconomic activity




A
B
C

A
B
C


G.I.
0
800
0

0
800
0


Ded
0
800
800

0
0
0


T.I.
0
0
(800)

0
800
0

e.
§265(a)(2) - disallowed for interest paid used to purchase tax-exempt obligations -> B lose deduction, C lose deduction

B.
Come in
   1400 (800 corp bond, 600 tax exempt)


Pay out interest    -800


Taxes on $800     -320



    $240 in his pocket

C.
Borrow
    (800)


Come in
     600



    (200) loss so can't invest


iv.
This problem arises b/c of differential treatment of diff kinds of income - §265(a)(2) is the second best solution o he problems. One best solution would beto treat all income from all sourcesthe same way and then limit the opportunities for tax arbitrage

d.
Operating Rules - Reg §1.163-8T(c)(1), (c)(4) controls tax classifications of interest - Deposit of debt proceeds in an account is treated as an investment expenditure, and reallocated when used for another expenditure

(1) Interest is allocated according to use of the proceeds of the debt that generate the interest, not acording to the property that securest the debt  - 8T(c)(1)

(2) Where the debt proceeds are place into an account tht contains unborrowed funds, expenditures from the account are deemed to come first from the ebt proceeds until exhausted - 8T(c)(4)(ii)

(3) Until disbused, debt proceedsplaced into an account are treated as being used for investment purpoes - 8T(c)(4) (i)

(4) The above rulesoperate separtely on each account of the taxpayer - 8T(c)(4)(vi)

Ex
$10,000 borrowed deposited into account, then


$2,000 used to purchase tax exempt bonds


$5,000 used to purchase personal use property


$1,000 used to purchase stock

->
$100 of Jan int expense allocated:

2/10 to purchase tax exempt securities, not deductible - §265(a)(2)

5/10 to personal consumer interest, not deductible - §163(h)

1/10 to investment interest - §163(d) for the purchase of stock - deductible only to the extent that the taxpayer has net investment income during the year

2/10 to investment interest under §163(d) - deductible only to the extent that the taxpayer has net investment income during the year

Ex
5,000 used in trade or business

2/10 -> $20 not deductible under §265(a)(2)

5/10 -> $50 not deductible under §163(h)

1/10 -> $10 deductible, only to the extent of taxable investment income for the year

2/10 to business interest, fully deductible under §163(a); the other $3,000 of the $5,000 business expense is deemed to come from unborrowed funds -> $20 fully deductible business interest

Ex
Should set up Separate Accounts

Account #1 - $6000 of unborrowed funds -> use to write $5000 for pers item

Account #2 - $10,000 of borrowed funds

Acct 1: $1000 to purchase tax exempt bonds

Acct 2: #1000 on tax exempt bonds, $1000 on securities, $5000 on bus exense. $3000 left for investment

-> $100 Jan int expense allocated:

1/10 to purchase tax exempt sec, not deductible - §265(a)(2)

1/10 to investment interest - §163(d), deductible only to the extent that the taxpayer has net investment income during the year

5/10 to business int, fully deductible - §163(a)

3/10 to investment interest - §163(d), deductible only to the extent the taxpayer has net investment income during the year

Purchase and carry rule of §265(a)(2) - entire $2000 paid for tax exempt securities may be allocated to borrowed funds 

-> $20 of interest not deductible - §265(a)(2)

-> $30 (v. $40) = investment interest - §163(d)

C. Timing of Interest Deduction

1.
 Generally - Timing of interest depends on taxpayer's method of accounting - §163(a) - "paid" or "accrued"

2.
Certain circumstances - Code mandates the timing of the deduction and the inclusion

a.
Original Issue Discount   

b.
Related Parties -> Matching of deduction event and income event - §267(b) 

i.
Related parties - indiv and corp owned 50%+ directl or indirectly by indiv 

ii.
if A (cash method) and brother each own 40% of Beta Corp (acrual method); A lend Bcorp $ and corp gives A note bearing int, and Y1 corp owes $5000 interest -> then Bcorp may not take deduction for interest that otherwise allowed b/c all events test and economic performance met, until A cash method taxpayer has inclusion of income. 

iii.
Absent control, B could take current deduction for accrued interest

D. Imputed Interest and TVOM

1.
Original Issue Discount - another form of interest (other than stated interest)

a.
As OID portion accrues, OID incudible in holder's income (§1272); increase holder's basis in oblig, so no maturity, no double inclusion.

b.
Ex: A lend B $1,000. B agree pay A back in 3 yrs $1,000 + $331 of deferred int


Ex: A lend B $1,000. B agree pay A $1,331 in 3 yrs but not delineate b/w principal and debt proceeds on debt = Zero-coupon bond = OID bond issued for cash 

i.
Diff b/w stated redemption price at mat $1,331 and Issue Price $1,000 = OID $331.

ii.
Issue price = amt paid for bond

iii.
Stated redemption price = Amt paid at redemption

iv.
OID = interest in another form

c.
Midland-Ross corp - Sale/exchange of inst purchased at a discount to extent gain on sale of instrument reflected acrrued OID = interest -> report it as report interest

d.
§1272 - Economic Accrual if 15% compounded annually (internal rate of return). Interest starts out small and grows b/c int accrues on outstanding debt 


(i.e. Y2: ($1 + interest accrued in Y1 which not paid: 1.15) x 15% = $.173

e.
MATCHING - Ratable accrual of interest would overstate interest accrued in early years. Borower deduct too much. Lender accrue too much (i.e. R borrow $1 in '81 and borrows every yr to pay outstanding indebtedness. Int rate 15%. All debt paid in 30 yrs -> $65.21/30 yrs = 2.17 deducted by borrower and included by lender each year)

2.
Ex: On Jan 1 94, C, cash method taxpayer, purch from XYZ Corp, a bond issued by XYZ Corp., with a face amt of $10,000 for $7,462. The redemption date is Dec 31, 96. The yield to mat is 10% compounded semiannually. The instr does not provide for any stated int.

a.
OID = Stated redemption price §1273(a)(2) - Issue Price §1273(b)


= 10,000 - 7,462 

b.
OID rules §1272(a)(1) apply to debt instruments. Daily portions - §1272(a)(3)

c.
MATCHING - §163(e) - Most circum, to extent investor has income, issuer has deduction. 

d.
Adjusted Issue Price x Yield To Maturity = OID
e.
AIP = outstanding debt - Original loan proceeds + acrued interest which wasn't paid. 


OID zero coupon bod - all interest is accrued and unpaid interest


10% Accrued on semiannual basis = 5% acrued every 6 mos ~ 10.2% compounded ann


Constant interest to bigger loan balance. Generally accrue on semiannual basis 

f.
1st accrual period: AIP 7,462 x YTM .05 = 


373.10

 
2nd 6mos Y1: AIP (7,462 + 373.10 = 7835.10) x YTM .05 = 
391.755

-> Y1 income inclusion for issuer, deduction for borrower =
764.86


Y2







843.25


Y3







929.69

g.
When bond redeemed, holder get 10,000 and paid only 7,462 so have no further income at redemption

h.
1272(d) - as take in accrual -> increase in his basis, so at the end, no further income to report at redemption

E. Interest Free Loans §7872 - Treatment of Below market loans 
1.
Interest free loans in context of gifts, transfers b/w family become assignment of income issues

a.
Progressive rate structure - try to asign to taxpayer in presumably lower rate bracket

2.
Two basic set of rules

a.
Service income - §83(a) - Service provider is taxed on income generated by services, transfer of prop for svcs. Difficult to transfer income from services. (i.e. Prof ask NYU give income to daughter; not wortk to get taxed at daughter's rate)

b.
Property income - Taxpayer can effectively transfer income from property. Gen Rule: As long as willing to transfer ownership of property (i.e Transfer apt building to Dana and she will be taxed on rents thereafter generated by apt building) But lots of people not trust children, so not want to transfer forever.

i.
Can set up a trust - separate taxpaying entity, flow thru from father to son -> divert income to lower bracket child, by put in trust

ii.
Used to be able to successfully divert income from prop by transfer prop in trust for limited no of years. But now, can't temporal slicing (10 yr trusts) -> int free loans

3.
Gift loan that is Below-market loan - §7872(a) covers all gift loans, whether term loan or demand loan

a.
Foregone interest is treated as (A) transferred from lender to borrower, and (B) retransferred from borrower to lender as interest (Deemed payment back - fiction)

b.
Foregone interest = amount of int that would have been payable on loan for this year if at applicable federal rate (AFR)

c.
AFR - §1274(d) - set of rates published monthly by Fed gov't and reflect avg market yield on recent gov't obligs (for §7872, use short--term)

i.
Benefit - AFR lower than what human can borrow on the market

d.
Ex: If F lend S $100,000 interest-free for a one year pd. S invests loan proceds in a savings acct paying 10% int (compounded semiannually). Assume AFR is 10% (compounded semiannually)

i.
Pretend transfer F -> S = gift and not increase S's income

ii.
Pretend retransfer S -> F = deemed interest payment set up by Code. Whether deductible or not, depends on §163(d) - Tracing, what S does with proceeds of the loan (i.e. Investment int -> deductible)




F

S

Income
10,250 (fict)
10,250 (real interest income on investment principle)


Dedutions
0

10,250 (fiction - §163(d) - deductible?)


Net

10,250
0

If son's interest income at AFR -> 0 net; If son earns more than AFR -> not 0; If use interest to invest in munis -> §265(a)(2) $10,250 won't be deductible b/c acquire tax-exempt securities with interest

No assignment of income works here. F is in same posture as if gave S interest-bearing loan = Reconstruction of trans so assignment of income not achieved

4.
Term Loan that is not gift loan - §7872(b)

a.
'Term loan' - §7872(f)(6) - required to pay back at end of x years (not a demand loan - §7872(f)(5) - payable on demand) 

b.
Test - See if §7872 applies  

i.
Below market loan? Amt borrowed > PV of everything borrower has to pay back, using AFR (i.e. If employer lend at AFR -> no foregone interest)

ii.
Below market loans to whcih section applies - §7872(c) (i.e. If borrow from Chem Bank -> not a relationship cover by §7872)

a.
Gifts

b.
Compensation-related loans 

c.
Corporation-shareholder loans

d.
Tax avoidance loans

e.
Other below market loans if interest arrangement has significant effect on tax liability of L / B

f.
Loans to continuint care facilities

c.
§7872(b)(2) - Any below market loan which (1) applies, treated as OID = amount excess (1)

d.
Ex: Employer E lend Employee D $100,000. D requ'd to repay the $100,000 back a the end of 3 years. There is no stated interest.

i.
Amt borrowed = 100,000


PV of everything have to pay back ($100,000 in 3 yrs) = $75,000


-> Below-market loan

ii.
Compensation related

iii.
§7872(b)(2) -> $25,000 = OID subject to §1272 rule. Over 3 year time period, employee treated as paying $25,000 of OID to employer. 

a.
Compensation portion E -> D: $25,000

b.
Loan portion: $75,000, with repayment obligation of $100,000 -> OID

Year 1: OID acrues w/ (adjusted) issue price of $75,000; stated redemption price = $100,000; YTM = AFR. 


AIP x YTM = OID ($75,000 x ~10.25%)



     E





D


Income     OID (income YTM method)

25,000 compensation portion










§61(a)(1) -> G.I.


Deduct      25,000 (§162- may be deductible b/c 
OID 
(§163(e) - yearly)




      has to be comp paid for svcs 




      rendered; can't be excessive) 

c.
First amount paid during 6 mo accrual period = ($75,000 x .05 = $3,750) + ($78,750 x .05) = $7687.50 (~ $75,000 x 10.25%) is income to the lender and deducted over time to the borrower 

5.
Deminimis Exception - §7872(c)(2)

a.
Policy - not worry about abuse / distortion potential

b.
$10,000 - gift, compensation-related, or corporate-shareholder loan -> §7872 not apply

6.
Demand Loan
a.
Test -> §7872(a) applies

i.
Below market? §7872(e)(1); Foregone int §7872(e)(2)  

ii.
Applicable relationships? §7872(c)

iii.
Payable on demand? §7872(f(5) 

b.
§7872(a) - Amt of foregone interest treated as (A) transferred from L -> B; (B) retransferred from B -> L as interest (A, B: on last day of cal year) -> no OID computation

c.
Ex: Employer -> D $100,000 demand loan. No stated interest



Foregone interest: AFR = 10% (comp semiann) -> $10,250


(A) Deemed payment w/o characterization


(B) Deemed payment w/ characterization = interest




E



D

Income
10,250 (int paid - §61)
10,250 (compensation - §61(a)(1))


Deduct
10,250 (§162)

10,250 (depend on §163, what proceeds of 






loan, interest, used for)


XI. Introduction to Capital Gains - Income from sale or exchange of capital asset
A. Mechanics

1.
Code provides 'preference' for long term capital gains 

a.
If net capital gain -> §1(h) max rate = 28%. Highest rate for ordinary income = 39.6%

b.
Net capital gain = Net long-term cap gain - net short-term cap loss (§1222(11))

i.
Net long-term cap gain = Long-term cap gain - long-term cap loss (§1222(7))

ii.
Net short-term cap loss = Short-term cap loss - short-term cap gain (§1222(6))

2.
B/f preference not in reduced rate, but in exclusion. (i) Compute net capital gain (long term); (2) Excluding from AGI a % (i.e. 50%, 60%). So effective rate = 20%.

3.
§1222 - Definition section. 

4.
Limitation on ability to use capital losses - §1211(b)

a.
Gen rule for non-corporation: If taxpayer's cap losses > cap gains -> may deduct all losses against gain -> Excess deduct off ordinary invome $3,000 and what not used is carried forward - §1212

b.
Policy - Taxpayer will manipulate losses by wipe out ordinary income so limit use of capital losses

5.
Examples 

a.
H, single. $90,000 in salary. No itemized deductions, so use standard deduction. No dependents. $10,000 long-term capital gain. Find H's tax liability. 

i.
Salary


90,000


Long-term cap gain
10,000


G. I.


100,000 (§61)


AGI


same (no above the line deductions - §62)


 


- 3,000 (standard deduction §63)





- 2,000 (personal exemption §151)


T.I.


95,000

Note: Should use inflation adjusted standard deduction - $3700



"
"
"
personal exemption - $2350
(for 1993)

ii. 
§1(h) - If has net capital gain ->

 (1) Greater of §1(c) tax on


(A) Taxable income $95,000  - Net Cap gain $10,000 = $85,000 

 or
(B) Amt of taxable income taxed at rate less than 28% = $22,100

plus (2) 28% x (Amt of T.I. in excess of (1) = $10,000) = $2800


= (1) ($12,107 + (31% x (85000-53500 = 31500)) = 21,872)+ (2) 2800 = $24,672
iii.
She is in 31% bracket -> 31% on other income & just 28% taxed on $10,000 of capital gain

b.
H has $90,000 salary; $8,000 long-term cap losses


i.
Salary
90,000

G.I.
90,000



- 3,000 
(§1211(b) - limitation on cap losses, only allowed to extent A.G.I. 87,000
above cap gain (none) plus $3,000)



-3,000
(standard deduction)



-2,000
(personal exemption)


T.I.
82,000

ii.
The $5,000 of cap losses that didn't use -> carry forward (§1212)

iii.
Not look at §1(h) b/c no net capital gain (§1222(11) = Excess of net long term cap gain over net short term cap loss).  

c.
H has $4,000 of long-term capital loss; $10,000 of short-term capital gain; and $90,000 salary

i.
Salary


90,000
(ordinary)


Sht-term cap gain
10,000
(ordinary)


G.I.


100,000





- 4,000 
(net cap losses §1211(b) can offset cap gain)


A.G.I.

96,000
§62(3)





-3,000





-2,000

T.I.


91,000

ii.
No preference in Code for Short term capital gain - §1(h) is for net long-term capital gain. Net short term cap gain = $6,000 -> Taxed at regular rate 


Tax = 12,107 + 31% (91,000 - 53,500)

d.
H: $2,000 of long-term cap gain; $1,000 of long-term cap loss; $7,000 short-term cap loss; $90,000 salary

i.
Total cap losses (not distinguish b/w sht & long) = 8,000. Total cap gain = 2,000. -> how much of 8,000 can you use?

ii.
Salary


90,000


Long-term cap gain
2,000

G.I.


92,000





- 2,000 
(Cap loss against long term cap gain §62(3))





- 3,000
(Cap loss against ordinary income §1211(b))


A.G.I.

87,000





- 3,000
stndrd deduction





- 2,000
personal exemption


T.I.


82,000

iii.
No net capital gain (net long-term cap gain - net short term cap loss) -> not need look at §1(h) 

iv.
Tax Liability = 12,107 + 31% x (82,000 - 53,500) = $20,942

6.
Preference, §1(h) rate limits (not affect AGI - 2% floor §67). Only in net capital gain. Capital losses are used in avery limited way.

B. Policy Aspects

1.
Policy for preference for long-term capital gain = greater than 1 year (§1222)

a.
§1222(11) - Net Capital gain = Net long-term cap gain  - Net short-term cap loss
b.
Tax incentive - If lower max rate on long-term cap gain, will increase fed tax revenues (so if rate  < ord income rate) -> induce taxpayer to realize gains they might not otherwise realize

c.
Revenue maximizing arg - If Gains taxed at rate < 30% (assume rate on ordinary income > 30%) will be revenue raising or maximizing b/c will induce those who wil avoid gain to sell and reinvest proceeds when rate low enuf. 

i.
But if set rate too low -> no increase in revenues.

2.
Arg in favor of preferential rates for capital gains (as opposed to exclusion)

a.
It is not income b/c not expected, not recurring. 

i.
But windfall (i.e. Find $10,000 in cab) is still income.

b.
Consumption should be taxed, not income. Our tax base taxes more than just consumption. (Arg for consumption-based tax, rather than income-based tax. Since we should move to consumption-based tax, if cap gains are reinvested, then shouldn't tax them) Treat pref -> consumption-based tax. Our system is hybrid b/w consumption-based and income-based tax.

c.
Bunching - Justify pref rate b/c not fair that all income, bundled in one year b/c sell asset, rep appreciation over time. Unfair to tax them at marginal rate b/c bunching effect -> higher marginal rate; not tax of annual appreciation on lower marginal rate.

i.
Problem only in progressive rate structure

ii.
But,: most people who realize long term cap gain already in highest marginal rate -> problem might not be there

d.
Rewarding risks - If tax capital gains at lower rate, people more likely to take risky investments. Equalize risk / reward ratio. Desire to have indiv invest in riskier venture. 

i.
-> should provide unlimited use for capital loss if want promote risky activity

e.
Inflation - Preference ameliorates impact of inflation (i.e. Buy asset for 100, sell for 110 next year, inflation = 10% -> not really have a gain) But should adjust basis for inflation instead.

f.
Lock-in (strongest arg) - Cap gains preferences work to offset the disincentive, lock-in problem. Promote sales of appreciated assets which would otherwise be locked in. Taxpayer with large amount appreciation in asset feel locked-in -> do not dispose of assets -> do not realize gains which may otherwise realize and recognize. 

i.
Combination of realization requirement and §1014 = Culprit. No lock-in if tax law require accrual of economic gain / loss each year.

ii.
Outr tax law require realization b/f account for appreciation in value or depreciation in value of asset

iii.
§1014 - basis rule on debt - beneficial take step-up in basis. (If realization, not dispose of prop and die with it -> gain never taxed) 

iv.
'About half of all cap gain = apprec in assets, never taxed.' Highest rate bracket people recog most cap gain. Hold onto it if old.

v.
Accrual system where not require realization -> diff b/c need annual valuations

3.
Alternatives (not easily adopted -> Reduced rate is second best sol'n to problem w.r.t. lock-in)

a.
Get rid of §1014 basis rule

b.
Carry-over basis (didn't work)

c.
Make death a realization event (lot other countries do this)

d.
Tax-free rollover to defer gain. (i.e. §1044 gain from public issue se cno recog currently if reinvested to purchase stock in small bus investment activities)

4.
If taxed cap gain at certain rate (< 30%) can max total tax revenue as opposed to keep cap at same rate as ordinary b/c promote disposition since generate income at lower rate

a.
-> More income taxed at lower rate than

b.
-> Less sales at ordinary income rate

5.
Problems

a.
Equity Problem - All taxes affect economic behavior. Should find less one that less adversely affect economic behavior. 

i.
Treat income diff on source - distinguish, tax differently, income from diff sources. (i.e. Comp - diff form, source of income) 

ii.
If reduce rate on cap gains to perfect rate (increase rev so much -> can decrease ord rate, too) that overall rates can be reduced -> effective tax rate on everyone's lower and better for everybody (low and high income taxpayers). But perception of inequity.

b.
Hi bracket taxpayer has cap gains, not wage earner with family of 4 -> perceived diff b/w rate hi bracket pay and lo bracket pay on income -> unfair -> problems with compliance (~ fringe benefits)

c.
Complexity - distinguish b/w sources of income


6.
House Bill proposal to decrease rate on capital gains

a.
Bring back Exclusion system to provide tax preference as opposed to §1(h) - reduced rate for cap gains. (i.e. Half of net captial gain excluded from bask. Not change rate, so that if max rate = 39.6% -> effectively ~ 20%)

b.
Adjusting basis for inflation (i.e. §1244 rollover provision) Index basis only for gain, not loss.

i.
Indexing basis - Incresing basis of asset for inflation = right way to go (b/c reduced rate redresses that §1001 gain - nominal gain, not real gain b/c basis not increase for inflation) for compute cap gain

ii.
Problems - can cause investment distortions b/c debt is not adjusted for inflation

i.e. T borrow $1000, invest entire in stock w/ anual dividend of $50 / yr. T have to pay annual interest 5% + inflation on loan. If 10% inflation -> effective interest rate is 15%. If allow to index for inflation (not for debt) -> value of stock increase to $1100. T sells stock for current value

AR
1100
-> use to pay off loan (Debt 1000 + interest 150)

AB
1100 
(proposed rule - original basis + increase for inflation)

gain
0

Income
50 
(dividend; b/c AB -> no gain from sale)

Deduction
150
interest deductible (pay at year end. Cash method)

Loss

(100)

iii.
Problem of tax arbitrage But there was no economic loss. T came out evenly.  (~ §265(a)(2) - disallow interest deduction for interest on inebtednes to purchase tax-exempt obligations)

iv.
Inflation is a real issue. Deal with it piecemeal -> cause its own distortions.

c.
Limitation on cap loss - new rules bring back old carryover provisions - instead of max $300 to offset ordinary gain, if long term cap loss - use $2 against ord income, if short-term cap loss - use $1 on ord income.

C. Sale or Exchange and Holding Period Requirements

1.
Disposition is broader concept than sale or exchange (i.e. Retire, abandon)

2.
Long term = Held for more than 1 year

D. Definition of Capital Assets

1.
§1221(1) - Not capital asset -> Ordinary income

a.
Inventory is not a capital asset b/c basic notion = distinguish current ord bus income from profits accrued over period of time which relate to market factors and distinguish from ord bus income (i.e. If sell inventory = your bus -> shouldn't cap gains, but ord income. ~ fees doctor receives)

b.
Property held by taxpayer primarily for sale to customer is not a capital asset. (i.e. R/E - building is not inventory, land is not inventory)  Fungible goods = inventory. 

i.
'Customers' - distinguish dealers & traders of own acct

a.
In securities bus, dealers - has customers => inventory

b.
Traders - no customers -> not inventory -> may have capital gains

2.
Biederharn Realty Co, Inc v. U.S.

a.
Piece of land, that was clearly an investment, then turned into business
b.
Issues 

i.
Whether at time of sale, what was sold, held by taxpayer was 'primarily for sale to customer in ordinary course of taxpayer's trade or busines'?


- Taxpayer can be in many diff trades or business (i.e. Doctor and in R/E bus)

ii.
Inventory type assets (i.e. Your co sell corn syrup = 'inventory' or 'held primarily for sale to customer in trade or business')

c.
Factors passive invesor become an active dealer (Winthrop) 

i. 
Frequency and substantiality of sale  

ii.
Was property developed?

iii.
Was it advertised?

iv.
Promotional activity?

3.
Corn Products - Hedging trans is ordinary income, not investment trans (i.e. B / S futures to protect against corn price) 

E. Quasi Captial Assets: §1231

1.
Provide taxpayers with best of both possible worlds in limited set of circumstances

a.
Effect is long-term cap gains treatment for certain gains; but if trans that look at results in losses, the taxpayer will be entitled to get ordinary losses

b.
Usually, §1231 results in favorable tax treatment for tax purposes

c.
Corporations still need to det char of its §1231 gains and losses, tho no rate preference for corp cap gains, b/c of corp rules restricting deductibility of cap lossess
2.
Passive investment gains (i.e. Stock, bond, land bought 5 yrs ago and not do anything with; Appreciation in value from ord bus receipts)

a.
Gen exclude from cap asset treatment, §1221(2) prop

b.
§1231 added in WWII to benefit taxpayers that lose tax $ b/c of war seizures. 

i.
losses -> realization of value when out of their control -> entitled to ord losses - preserve ord loss treatment while provide cap gain treatment where there are gains

ii.
Orig, for prop destroyed by enemy action, or taken by eminent domain

iii.
Include ord sales also b/c hard distinguish forced sales

c.
§1231 does not determine whether a gain or loss is reported in G.I. or allowed as a deduction. All §1231 does is determine the char or already recognized gains and deductible losses. 

i.
A realized gain which is not recognized b/c of the mandatory application of §1031 (like-kind exchange), or loss disallowed b/c of §267 (related parties) -> not within §1231.

ii.
§1231 not create cap assets -> Create cap gain / loss for certain asset that would not be capital asset. 

d.
§1231(b) exclude §1221(1) assets - investment prop held for sale to customers, except for §1221(2) assets held for more than 1 year.

3.
Steps - §1231(a)

a.
Take all gains and all losses from (1) sales and exchanges of prop used in trade or bus; (2) invol conversion of prop used in taxpayer's trade or bus; and (3) invol conversion of cap assets held more than 1 year, except personal use assets.

i.
'Prop used in trade or bus' = Prop used in trade / bus, w/ allowance for §167 (§168) deduction held for more than 1 year, and real prop used in the trade or bus, held for more than 1 yr, which is not inventory, inventory-type prop.

a.
1231 prop = 1221(2) property, which is ordinary asset -> Create speical rules for it in §1231

b.
Policy for > 1 yr reqmt: preference only for long-term cap gain

ii.
Involuntary conversion - Abandonment, invol conv is not a sales or exchange -> can't cap gain or loss.

b.
If 1231 gains > 1231 losses -> everything is long-term cap gain & long-term cap loss

c.
If 1231 gains not greater than 1231 losses -> all gains and losses are ordinary

4.
§1231(c) prevents manipulation of T bunching sales of appreciated prop in one year and bunching sales of trade or bus prom which has decr in val in a sep tax year (-> ord losses)

a.
§1231 loss char as ord loss -> all §1231 gains for next 5 years tainted as ord gains


(Not affect prior §1231 gains characterized as capital gains, but may taint any subsequent §1231 gains for next 5 years) 

b.
Ex: 
Net §1231 Gains
Net §1231 Losses

1991



$2,000

-> ordinary loss


1992
$5,000




-> $2,000 char as ord income


1993



$3,000


1994



$4,000


1995
$10,000




-> not tainted by 1991 losses










-> but '93, '94 taint $7,000 of 







$10,000 to be ord income; 







only $3,000 go into §1231 







hotchpotch and treated as a 







capital gain

c.
If no §1231(c) -> gains char as long-term; losses char as ord losses

d.
§1231(c) -> T should wait 5 yrs b/f selling a §1231 asset at a gain to avoid this ord income taint (i.e. If $10,000 gain from 1995 can be postponed to 1999 -> no taint from '94 loss)

e.
Ex: Lola sells assets used in her bus and a $4,000 gain realized on the sale of land used in  Lola's bus, and a $2,000 loss from sale of a bus fixture

i.
Hotchpotch:


+ $4,000
gain on sale of land
- R prop used in trade/bus §1221(2) -> 


- $2,000
loss on sale of fixtures - §1231 loss


positive 


ii.
-> gain eligible for long-term cap gain treatment & loss char as long-term cap loss -> rules for preference for 'net capital gains' §1(h); cap losses §1211(b); 1212(b)

f.
Ex: a $4,000 gain realized on the sale of land used in Lola's bus and a $10,000 loss from the sale of a bus fix 

i.
Hotchpotch:


+ 4,000


- 10,000

negative
§1231 gains do not exceed §1231 losses

ii.
-> no cap gain / cap loss char -> 4,000 ord income - G.I.; 10,000 ord loss deductible §165(c)(1) -> A.G.I. §62(a)(1). Ord loss not subject to restrictions on cap loss deductibility

 g.
Ex: If land held for > 1 yr, fixture held for < 1yr -> only gain from sale of land = §1231 gain -> char as Long-term cap gain. Loss from sale fixture is ordinary.

XII. Advanced Property Transactions

A. Liabilities - Acquisitions (Debt acquisitions)
1.
Treat non-recourse debt as true loan 

a.
Acquisition indebtedness include in basis whether recourse or not

b.
Crane v. Comm. - Bedrock for all tax shelters. Prop assoc w/ acquire prop w/ debt and tax implications - Include non-recourse debt in basis like recourse debt b/c assume rational bus person will pay the debt back. Treat as gen proposition, non-recourse debt like recourse debt. BASIS -> IMPORTANT B/C ALLOW T to DEDUCT

c.
Mayerson - Provide taxpayer with advanced credit for recourse and non-recourse in calculate cost basis (i.e. Basis = $200,000 -> start deprec as if put $200,000 in prop)

2.
Basis 

a.
Acquire prop w/ cash -> Basis = what you paid for it

b.
Acquisitions by purchase w/ borrowed funds impacts

i.
Depreciable property b/c taxpayer's investment in prop (basis) is starting # for depreciation deductions (Franklin)

a.
If debt is real -> int payments on debt allowed deductions §163. Individual must consider §163(h) personal interest disallow; §163(d) investment interest limit; §§465, 469 on current deductibility of anything w.r.t. prop.

ii.
When you sell the prop: Amt Received - Adjusted Basis = Gain or Loss Realized

a.
Adjusted Basis §1016(a)(2) - adjusted for allowed depreciation

3.
Examples: ACQUISITION INDEBTEDNESS INCLUDED IN BASIS WHETHER RECOURSE OR NOT (indebtedness in conn w/ acquire prop)
a.
T buy building for $200,0000. Building is depreciable prop. She funded by pay with $200,000 cash; or $200,000 borrowed from bank on unsecured recourse basis; or combo; or by assume existing mortgage of $100,000 encumbering the property and paying the seller $100,000 in cash; or by pay seller $100,000 cash, executing a note for the $100,000 balance, and giving the seller a purchase money mortgage (lien on prop) -> SAME basis $200,000. BASIS SAME WHETHER FINANCE WITH CASH OR BORROWED FUNDS, BORROWED FUNDS

i.
Unsecured = not secured by prop (i.e. Mortgage is securd b/c if debtor default, lender can foreclose - sell security)

ii.
Recourse = can go against borrower personally

iii.
Non-recourse = recourse limited to security on the prop

iv.
Home mortgages are always personal - Investment in prop, amt paid §1012 include borrowed funds, recourse 

b.
Y1, T purchase depreciable prop from S for $200,000. T paid $100,000 cash and gave S a purchase money mortgage of $100,000 for the balance. T not pers liable on mortgage note. FMV building ~ $200,000. -> Basis = $200,000

i.
Crane, Mayerson - treat non-recourse loan as true loan, provide T w/ advanced credit in calculate cost basis (no Franklin problem)

ii.
As T makes interest payments on loan -> may be deductible (§163(a) gen rule interest paid on indebtedness deductible; (d) limitation on interest paid on indebtedness allocable to investment prop )

a.
Should be no further tax consequences as mortgage get paid off (amortization of principle payments on mortgage) b/c already got all credit on theory that will pay off (assumption - amortization payments will be made)

iii.
Alternative of give T basis as amt cash and increase basis with each amortization payment, but (1) complicated; (2) may give taxpayer too much control while make larger amortization payment in same years to increase basis; and (3) Decline in value in earlier years

4.
Contingent obligations not considered part of original purchase price
a.
Ex: T purch building for $100,000 cash plus additional oblig to pay the seller 50% of the profits to be derived from the building over the next 5 yrs. FMV of this oblig at time of purch = $100,000. T's basis = 100,000 b/c out of profits part of obligation too contingent -> not considered part of original purch price

b.
Albany Car - acquisition of bus - buyer have to pay severance pay in certain circum and buyer want include it in basis. Ct: No b/c too contingent (in fact did not have to pay)

c.
-> Have to increase basis as principle payments are made
d.
Policy - not like fixed oblig in Mayerson b/c may be so contingent that T may not have to pay -> not include in basis

5.
Prudent Abandonment Rule
a.
Franklin - Egregious tax shelter case. Partnership not sep entity, flow thru to indiv partners. $1.2mil  purch price, prepaid int $75,000. $75,000 up front, monthly payments, largely interest $9,000 / mo. Balloon payment at end of debt term.

i.
Sale / leaseback arrangements often held up as legitimate sales, leaseback; cash flows match

ii.
Ct: Debt is included in basis. None of indebtedness was respected for any purpose. Ct not willing to give advanced credit for note  (1) Depreciation deduction disallowed. (2) Purported interest deduction disallowed. Need true loan b/f (1); (2)

iii.
Investment in prop = 'An acquisition such as that if at a price approx = FMV of prop under ord. circum. would rather quickly yield an equity in the prop which purchaser couldn't prudently abanon.'

a.
If purchase price > reas est FMV

b.
-> Not assume would make whole of principle payments

c.
-> Basis limited to cash paid

d.
None of indebtedness included in the basis. None of note formed a rationale for allow interest deductions b/c note did not approximate FMV of prop

b.
Ex: T pay $100,000 cash and gave S a purchase money mortgage of $400,000 on which she was not personally liable. FMV building ~ $200,000. 

i.
If note face > FMV prop, most cts not willing to assume that obligor / borrower will pay off that note (not true loan) (If no pers oblig)

ii.
If not was recourse -> Basis = Cash $1 to Full note $4 = $500,000 (Gen rule; but if egregious circum -> only use cash)

iii.
If FMV prop actualy worth $400,000 5 yrs later => T's basis on acquisition should increase as value goes up, definitely if the note is paid off (Franklin not address)

c.
Ex: If T pay $100,000 cash and gave S a $150,000 nonrecourse note; FMV ~ 200,000

i.
Note face approx FMV or less -> imprudent for taxpayer to walk from trans and not pay off the note -> make sense to give taxpayer advanced credit for note -> Basis = $250,000. b/c presume he will pay the note b/c imprudent for him not to pay note b/c if not pay note wiull increase his losses

ii.
If T pays the note -> Investment = 250. Prop worth 200 -> if sell prop, Loss = 50 Can only keep prop by paying the note -> will give her advanced credit for the note Acquisition indebtedness (indebtedness in conn w/ acquisition of prop) -> make the judgment day 1, FMV day 1.

iii.
If T not pay note -> Paid 100 -> Loss = 100

d.
Buyer and seller engaged in these trans b/c prior to '86 Act, when §469 limitation of passive activity loss and §465 at risk rules extended to realty PREFER:

i.
Buyer prefer $500,000 basis -> Depreciation deduction (which reduce basis in prop); Payments of interest. Ord deductions -> poss cap gain later on

a.
Could prudently abandon the deal

b.
§469 would limit whether B could avail itself of deprec

c.
Depr deduction = int free loan by gov't (f -> Can't b/c no basis)

ii.
Seller - hopes to get cap gain larger than current sale for cash (§453 Deferred payment sales - installments reports)

a.
Defer receipt of princ payments (balloon)

b.
Gain deferred til actual payment

iii.
Sale / leaseback same. If prop actually turn out worth more than deal -> Buyer is going to pay it. Not much downside risk on seller, lot gain for buyer

e.
Pleasant Summit Land Corp. v. Comm - Note should be takent into account to extent of the principle amt of the note that approx FMV of prop. 

i.
Tax Ct: followed Franklin -> Basis = Cash $100,000

ii.
Cir Ct: did not follow Franklin
iii.
Service: will not follow Pleasant Summit

f.
If Ex5 ($100,000 cash, $400,000 mortgage) follow Pleasant Hill 


Basis = Cash $100,000 + note up to FMV of prop $200,000 = $300,000

g.
Theory: Creditor will not foreclose if debtor pay at least FMV and debtor is willing pay $200,000. Imprudent for debtor to walk from deal where they can make a deal with lender to pay $200,000

h.
Problem: Forecasting what in fact what a debtor / creditor will agree to do

B. Liabilities - Dispositions

1.
Woodsam Assoc - Secondary financing, indebtedness won't increase her basis in the encumbered prop unlesss the debt proceeds are reinvested in the prop
a.
Get basis for acquisition indebtedness if real. Not get basis for secondary financing.

b.
Even tho risk-shifting, if risk to first mortgagee -> risk pass to second mortgagee (lender), tax law not find disposition. (Loan - no current tax liability, $ in his pocket)

c.
Risk with lenders b/c if prop not worth enuf to pay off debt. 

d.
Secondary financing amt not go into BASIS for prop unless taxpayer invests that $ in prop.

2.
Ex: T purchased a building for $200,000, consisting of  $100,000 cash and a $100,000 nonrecourse purchase money mortgage. After a few years, the prop appreciated in value, and T obtained another loan on a nonrecourse basis for $150,000. (nonrecourse -? lender at risk, not borrower (not pers liable), if note not paid. Lender look to prop for payment of loan.

a.
T's original basis = $200,000. Acquisition indebtedness - covered by gen rule in Crane (No Franklin issue, no Pleasant Summit)

b.
Second mortgage $150,000 - No basis, just tax-free receipt of $150,000

i.
-> no gain w.r.t. $150,000 until disposition. Loan trans is not a disposition. (even if no recourse to borrower, not at acquisition). 

ii.
Not have to do Franklin analysis b/c Franklin concerned with investment in prop = Question of basis, essentially. 

3.
Ex: (same facts as Ex2) except As of Jan 1 of Y7, T has taken cost recovery deductions of $50,000 (the amt properly allowable) and has paid off $50,000 of the 2nd mortgage. On Jan 1 of Y7, T sold the building to a buyer who paid T $50,000 in cash and took the building subject to the $100,000 1st mortgage and the $100,000 remaining on the 2nd mortgage.

a.
Adjusted basis at time of sale = $200,000 original acquisition = Cash + nonrecourse note. (Crane, no Franklin issue) - $50,000 depreciation deduction reduces basis = $150,000. (§1016(a)(2)) 

b.
None of 2nd financing taken into acct in compute basis b/c no evid $ went into prop, unless evidence invested into prop.

c.
Payment of $50,000 on 2nd mortgage not affect basis b/c just repayment of a loan

d.
Amount Realized in conn w/ sale or disposition of prop = $ received + FMV of prop received (§1001(b))


Cash
$50,000


1st mort
$100,000
Crane - Acqu indebtedness = true loan (relief from indebt)


2nd mort
$100,000
When she dispose of prop, treat non-recoure debt as true 


A.R.
$250,000

loan. (~Old Colony Trust - somebody pay your 


A.B.
$150,000

indebtedness ~ got cash and you paid it off)


Gain
$100,000

e.
Treat 1st mort as relief from indebtedness -> A.R. Treat 2nd mort as relieved of oblig to pay it back, in context of sale or exchange -> taxable gain (else have tax-free $100,000)

f.
If Franklin applied and $100,000 purchase money mort were not included in T's orginal basis -> not include in A.R. (Crane) Treat debt symmetrically on acquisition and disposition of prop. True loan beginning -> included in A.R.

4.
Ex: (same facts Ex2) except on Jan 1 Y7, T defaults on mortgage, and mortgagee forecloses when the prop is worth $175,000. The combined mortgage balance on the nonrecourse 1st and 2nd mortgage = $200,000. 

a.
Lender / mortgagee assume nonrecourse mortgage remaining = $200,000 outstanding. Prop FMV = $175,000. 


Amount Realized 
$200,000
Amt outstanding, non-recourse indebtedness and 


Adjusted basis
$150,000

treat trans as sale or exchange


Gain

$50,000 
From capital asset 

b.
Cap gain on sale or exchange §1231 asset. Straight-line depreciation -> no recapture, not char as ordinary

c.
Foreclose on a deed in law = Sale or exchange when there is outstanding indebtedness, treated same as a voluntary conveyance

d.
Abandonment not a sale or exchange (unless give deed to bank, then consideration on both sides b/c indebtedness)

5.
Cancellation of Indebtedness Issue

a.
If taxpayer prepay a mortgage at a discount (i.e. $100,000 mortgage for $80,000 b/c creditor say OK b/c if interest rate increased, he can make more by lend out $80,000)

b.
Fulton v. Gold - Cancellation of indebt, unless argue purchase price adjustment

c.
Tufts - If FMV of prop is less than outstanding indebtedness when prop transferred back to lender -> Entire amt of outstanding nonrecourse indebtedness is treated as part of A.R. FMV (if nonrecourse) irrelevant to computation of gain. All of indebtedness is treated as true loan when taxpayer acquired the prop. On disposition -> Symmetric treat nonrecourse debt as true loan = part of A.R.

i.
Mortgage on prop = $200,000, Mortgagee foreclose on prop, FMV = $175,000


T arg:



$175,000






$150,000

Gain



$25,000
Potential capital gain


Disch of indebt income
$25,000
Ordinary income






$50,000 

ii.
Sup Ct: No, A.R. = nonrecourse indebtedness. Symmetry true loan reqmt b/w when acquire prop and when dispose.

d.
If mortage was recourse -> treat as bifurcated trans
i.
A.R. on sale = $175,000 (sale at FMV with transfer of cash proceeds)

ii.
Loan forgiven = $25,000 (diff b/w FMV and cash procceeds = cancellation of indebtedness income) 

iii.
free up assets only apply if recourse loan (give back prop subject to recourse debt -> all his other assets free up)

iv.
Treat some gain as cancel of indebtedness income, as opposed to gain from disposition of property ->

a.
§1231 - cap gain at preferential / lower rate

b.
Cancel of indebt income, tho ordinary can be deffered if (insolvent, bankrupt, R prop indebtedness §108)

v.
Reg §1.1001-2(c)

Ex (7) - In 1974: E purchases a herd of cattle for breediing purposes. The purchase price is $20,000 consisting of $1,000 cash and a $19,000 nonrecourse note. In 1977: E transfers the herd back to the orginal seller thereby satisfying the indebtedness pursuant to a provision in the original sales agreement. At the time of the transfer, the FMV of the herd is $15,000 and the remaining principal balance on the note is $19,000. At that time, E's adjusted basis in the herd is $16,500.  As a result of the indebtedness being satisfied, E's amount realized is $19,000 notwithstanding the fact that the FMV of the herd was less than $19,000. 

i.
E's realized gain is $2,500 ($19,000 - $16,500).

Ex (8) - In 1980: F transfers to a creditor an asset w/ FMV $6,000 and the creditor discharges $7,500 of indebtedness for which F is personally liable.  

i. 
The amount realized on disposition of the asset is its FMV ($6,000). 

ii.
In addition, F has income from the discharge of indebtedness of $1,500 ($7,500 - $6,000).

e.
When loan is nonrecourse, none of other assets free up by disposition b/c nonrecourse loan, none of taxpayer's assets are burdened by this debt

6.
What is the prop's basis in the hands of a buyer in the foreclosure sale or in the sale from the lender? (Crane, Franklin, Tufts) 

a.
xTufts - T purch prop subject to nonrecourse indebtedness, full mortgage, Oustanding indebtedness = $1.8mil. Symmetry is not b/w Seller A.R. and Buyer's basis. Symmetry is just of T's treatment of debt as true loan when acquired as basis,  (Crane - acquisition indebtedness) -> in A.R. when sell.

b.
xFranklin buyer put indebtedness on -> not apply here. If did, basis = 0 b/c FMV $1.4mil not approx nonrecourse debt $1.8mil.

c.
Basis = FMV $1.4mil    

C. Limitations on Deductions - §§465, 469

1.
§469 - Passive activity loss severely limited - Can't use losses from passive activities to shelter income from one's business of portfolio investments
i.
(a) No loss allowed for individuals, closely held C corp (exclude large corp) 

ii.
(b) Any loss disallowed in (a) can be carried forward (but not back) indefinitely and may be used to offset income from passive activities in a subsequent taxable year.

2.
Divide up indiv's income into 3 basic baskets. Loss from pasive activity offsets invome from other passive activity -> have to keep schedules (a, (b), (c)

a.
Passive activity

i.
(c)(1) Passive activity = activity which involve conduct trade / bus, and in which taxpayer does not materially participate. 

ii.
(c)(2) Passive activity include any rental activity (-> nail R/E tax shelter)

b.
Investment or portfolio - (e)(1) G.I. from interest, dividends, annuities, or royalties not derived in the ord course of a trade or bus
c.
Everything else
3.
Rental activity is passive activity

a.
Rental activity §469(c)(2) and levels not of a R/E professional ('93 Act retreat by add §469(c)(7) - so for certain limited R/E professionals, may not be passive activity) -> not matter what the level of participation is = Passive activity

i.
Limited exception for certain taxpayers if they have level of activity 'Active participation' - §469(i) - limited to use $25,000 losses from such activity against other income; and 

a.
if gross income > $100,000 -> ability to use losses phases out

b.
If gross income = $150,000 -> can't use at all (b/c reduce by 50% of amt  of G.I. > $100,000) 

c.
Policy - Exception designed to provide relief for indiv w/ moderate income and hold financial R/E for financial security
b.
If not rental activity -> Passive activity = 'taxpayer does not materially participate' - §469 (h)

4.
At risk rule - §465 can limit ability of taxpayer to use losses generated by activity. 

a.
Rules not apply here b/c though not at risk loan, qualified nonrecourse financing treated as amount at risk (from intitutional lender) - §465(b)(6)

b.
If applied -> keep track of loss so can use it in future

5.
Ex1: Y1: K has $200,000 of net income from be doctor and $50,000 of investment income from dividends and taxable interest. Jan 1 Y1: K purch small office building for $1mil by pay $100,000 cash and pay $900,000 nonrecourse loan borrowed from bank. FMV of building on Jan 1 Y1 ~ $1mil. Building generates $125,000 in annual rental income. Assume cost recovery deduction is $50,000 and K pays $81,000 in interest; $19,000 in real property taxes and $20,000 in annual maintenance costs.

a.
K's basis = $1mil (Crane; no Franklin issue b/c FMV ~ note)

i.
Y1: 125 - (50 + 81 + 19 + 20) = ($45,000) Loss 

ii.
Passive activity loss suspended b/c can't use to deduct from his medical income or investment income.

b.
If K sells his entire interest in the building for $1.2mil to D, an independent third party, on Jan 1 Y2. Assume his Adjusted Basis is $900,000 (§1016(a)(2))

i.
Gain (§1001) = Amt Realized $1.2mil - A.B. $900,000 = $300,000

ii.
§469(g) - When taxpayer disposes of his entire interest in passive activity (when sell to indep third party) -> any of those passive activity losses which suspended (deferred) can become freed up
a.
In defer gain of $300,000 -> reduced by $45,000 suspended loss -> gain $255,000 from passive activity

b.
Y2:  loss from passive activity can offset residual gain from passive activity on this prop
c.
In year of sale, passive activity loss didn't use b/f,  can use against this gain. $300 - $45 = $255

c.
If amt paid by D is $800,000. A.B. = $900,000 -> Gain (§1001) = ($100,000) Loss from sale of passive activity. He recognizes that passive activity loss (§1231 ord loss) 

i.
Sale frees up $45,000 of suspended loss -> no gain have to offset it against and no other passive activity incurred in Y2 -> Suspended $45,000 loss freed up and no longer passive activity loss (can use it to reduce medical income) - §469(g)(1)(A) b/c now that dispose of entire interest -> can tell if this is a real gain or loss. (This is real. He loss $) -> Allow thses losses which didn't trust b/f be freed up and used against all other income.

ii.
If sell to brother, related party §267 -> None of losses get free up. Losses get freed up when sell to independent third party b/c market trans = real life economic loss. 

d.
If K is the rental agent for the building and is actively engaged in managing the property 

= Passive activity b/c is rental activity, not matter level of participation

e.
Assume K did not sell the building, and that in Feb Y2, the building generates $20,000 of cash above its immediate operational needs, and that Kevin temporarily invests this cash, earning $1,000 interest. 

i.
§469(e)(1)(B) = not from passive activity -> remain portfolio income. 

ii.
Policy -  Not treat as income from passive activity, the income attributable to an investment of working capital b/c if treat as passive activity income -> the passive activity losses can shelter income from that which would otherwise be portfolio income 

iii.
If working capital is invested and yield interest -> = portfolio interest
f.
Assume in March Y3, K borrows $100,000 to fix the roof of the office building. K pays $8,500 in interest on this indebtedness. How characterize int payment?  

i.
Taxpayer want characterize as portfolio interest b/c portfolio usu -> positive income

ii.
Reg §1.469-2T(d)(3) - Trace $100,000 thru to office building and use tracing rules §163 and determine characteristic of interest by how proceeds are used

iii.
Repair to building -> Deductible - allocate to passive activity -> not to portfolio activities

g.
Assume during Y3, K engages in a new bus. He now constructs single family homes and makes a net profit of $25,000 on sales of such homes in Y3. How char this profit?

i.
He's in bus of sell R/E / income from rent R/E -> separate activity? 

ii.
If sales activity is separate from rental activity -> sales activity is not a passive activity -> income stream which can't be offset by losses from passive activity

iii.
Current inome - K want treat as ONE R/E activity so can use ($45,000) losses against this $25,000 income.

iv.
Sometimes want treat as separate activity (i.e. If sell rental building -> want sep from sales activity b/c §469(g) - If sold entire interest in an activity -> Frees up passive activity losses if he had any that were suspended.

v.
Reg - Separate activities -> not passive activity income 

6.
Ex2: Assume same facts as Ex1, except that K purchased a motel on Jan 1 Y1, and that K's wife is the mgr of the motel

a.
Reg §1.469-1T(e)(3) - distinguish motel & hotel from apartment buildings -> probably not a rental activity -> not mean per se not passive activity  -> Ask 'materially participate?' Reg §1.469-5T Test = Spend 500 hours / year on activity; or 100 hrs / yr if indiv's partcip not less than any other indiv. 

i.
Once no longer a rental activity -> material participation is an issue
ii.
Amalgamate his and spouse's activity - In det whether a taxpayer mat'l participates, the participation of the spouse of th taxpayer shall be taken into acct - §469(h)(5) 

b.
If K's wife did not begin to manage the motel until Jan 1 Y2 -> Non-passive activity.

i.
Former passive activity - §469(f) b/c not passive activity for taxable year, but was a passive acitivty for any prior taxable year

ii.
-> Any deduction that was unused and carried forward from such activity shall be offset against income from such activity for the taxable year

D. Non-recognition Transactions - Like Kind Exchanges - §1031

1.
Gains and losses (§1001 on dispositions of prop)

a.
Cap gains - dispostions more than sale or exchange

b.
Gen rule: All realized gains / losses are recognized unless Code provides specific non-recognition provision (§1001(c))

2.
Non-recognition treatment (i.e. Trans b/w spouse and former spouse §1041)

a.
§1031 - Nonrecogniton provision found in conn. w/ investment  activities. Exception to normal rule that realized gain is recognized- 'No gain / loss for investment or bus purpose where exchange solely for prop like-kind as long as prop received also held for investment or bus purpose'

i.
Exception: Not all prop covered by §1031 (i.e. Stock, bonds, notes excepted in §1031(a)(2))

b.
Policy: Inappropriate time to require taxpayer to report realized gain though identifiable realization trans b/c view taxpayer as changed FORM of taxpayer's investment rather than SUBSTANCE of taxpayer's investment

c.
Where a taxpayer exchanges prop for like-kind prop, we view newly acquired prop as changed form, not substance. Tax rules: As if cont'd his / her investment in original piece of prop (i.e. A change her truck for B's truck. The new truck A owns = continued investment. But, problem - prop may be burdened by debt -> (1) Non-recog provision; and (2) Crane, Tufts treatment of debt)

i.
Continue old basis

ii.
Continue old holding period (tacking)

3.
Ex1: Ernie exchanges his old pickup truck, used in his business, which has an adjusted basis of $2,800 and FMV of $4,800, for a new truck which sells for $5,800. Ernie gives up his old truck and $1,000 in cash. The new truck will be put to the same use in his business.

a.

   E's truck


New Truck 


A.B. $2,800 
-> + $1000




FMV $4,800


$5,800

Like-kind exchange

b.
E: A.R. $5,800 - A.B. (Truck $2,800 + Cash he gave up $1000) = $2000 realized gain
Realization event. Defer accounting for realized gain - §1031

i.
Real Estate = Like-kind prop for other R/E (i.e. Farm <-> Building)

ii.
E gave up some cash, but didn't recieve anything other than like kind -> Non-recog trans -> Deferral trans (not perm exclude from tax base) til cashes out, sells prop for cash. Mechanism for present gain realized, not recognized is thru basis rules applicable to like-kind prop received.

iii.
If $2,000 realized gain, not currently recognized -> On new truck he gets -> Basis such that if sold for current FMV for cash -> Gain = all of gain not recognized on exchange

c.
Basis Rules - §1031(d) 

i.
Gen rule: When non-recognition trans -> carryover to newly acquired prop, the basis in prop you gave up 

a.
Policy: preserve for future recognition, the gain which wasn't currently recognized

b.
If FMV of new truck decreases -> not same amt of gain

ii.
He gets prop worth $5,800. He had $2,000 gain realized, not recognized -> New truck has basis of $3,800, so if sell for $5,800 -> gain is picked up. 

iii.
Reg §1.1031(d)-1(e) - Basis of prop acquired = Total basis of props transfered. Basis of prop he gave up for new truck = $1,000 cash + old truck basis of $2,800 

d.
E's holding period in new truck - §1232(1) - Tacked Holding Pd -  In det pd for which taxpayer has held prop received in an exchange, include the period for which he held the prop exchanged if the prop has same basis as the prop exchanged

e.
Can the dealer who transferred the new truck to E qualify for nonrecognition treatment?

i.
No b/c §1031(a)(2) exception - stock in trade or other property held primarily for sale -> §1031 not apply to Dealer
ii.
Policy: Only for investment type prop, not inventory type prop
iii.
One side can §1031 - E must defer gain (§1031 not elective); Other side, dealer, can't
 4.
Ex2: Assume E exchanges the old pickup truck, used in his bus, which has an A.B. = $2,800 and a FMV of $4,800, for another pickup truck  with a FMV of $4,600 and $200 in cash. Does E recognize any gain?

a.
E gave up $4800 truck, got back $4600 truck and $200 cash = BOOT

b.
A.R. = 4800 (4600 FMV prop + 200 cash) 


§1001(a): A.R. = FMV prop recv'd + $ recv'd

Basis in old prop = $2800 -> Gain = $2000 realized 

c.
If receive BOOT (Cash, not like-kind prop) also -> have to recognize (§1031(b)) - 'Receipt of boot ($200) doesn't mean trans outside §1031 -> portion of realized gain will be recognized.

i.
Lesser-of Rule - Taxpayer will recognize lesser of BOOT received or REALIZED GAIN. Can't recog more gain than you realized. Can't recognize more gain than FMV of BOOT

ii.
Lesser of $200 or $2000 -> $200 gain is recognized

d.
Check computation §1031(d) - Basis - Should preserve how much gain for future recognition? $1800 unrecog gain of $2000 gain realized (since $200 was recognized)

i.
Basis for prop acq'd = (1) Old Basis - (2) $ recv'd + (3) gain ( - loss) recognized on exchange = $2800 - $200 + 200 = $2800 -> 

ii.
CHECK: If sell new prop for $4600 -> Gain = $1800 ($4600 - $2800)

5.
Ex3: E owns an apt building, which she holds for rental income purposes, with a basis of $50 and a FMV of $75. F owns a similar building with a basis of $80 and a FMV of $75. What is amt of E, F's recog gain / loss? What is E, F's basis in prop recv'd?

a.
E and F sell their resp properties to each other for cash. §1001(c)

i.
§1031 not apply b/c sell for cash IS NOT AN EXCHANGE. E's gain = $25. F's loss = $5.

b.
E and F exchange props. §1031 applies b/c R/E is like-kind prop

i.
F has no loss currently recognized. When she sells it, she will get real and recog loss of $5

c.
Same as b, except F, pursuant to a prearranged plan, immed resell E's prop to G for cash -> not in §1031
i.
§1031(a) - 'No gain or loss shall be recognized on the exchange of prop HELD for productive use in a trade or bus or for investment if such prop is exchanged solely for prop of like kind which is to be held either for Trade / Bus or Investment.

ii.
F not in §1031 -> Current loss recognized, can't use gain non-recognition.

iii.
E in §1031. Only one-side in §1031.

6.
Ex4: J exchanged truck used in her bus (basis $100, FMV $250) for truck owned by S worth $400 to be used in her bus. J also transferred corporate stock (basis $400, FMV $150) to complete payment for the new truck.

a.
J: She not receive BOOT, just like-kind prop -> she shouldn't recog any gain for the truck-for-truck exchange. She transferred stock (prop outside §1031 -> entitled to recognize loss (gain) of stock: FMV 150 - basis 400 = $250)

i.
J's basis in new truck (like-kind prop) = 1031(d) = (1) Basis of prop transferred (stock 400 + old truck 100 = $500) - (2) Money received ($0) - (3) Loss recog on exchange ($250) => $250
ii.
Reg §1.1031(d)-1(e) - If, upon an exchange 1031 prop, the taxpayer also exchanged other prop (not permitted to be transferred w/o the recog of gain or loss) and gain or loss from the trans is recog, the basis of the prop acquired is the total  basis of the props transferred increase by the amt of gain and decreased by the amt of loss recognizd on the other prop.

iii.
CHECK: that anything realized that not recognized in original trans -> preserve for future recognition values stay constant -> basis of truck preserve unrecog gain. 

a.
Truck FMV = 400. Sell w/ basis (i) 250 -> Gain = 150 = Amt of gain she did not recognize on initial like-kind exchange trans

b.
Assume stock's basis is $50

i.
Inherent gain of $100 in stock -> When transfer prop not covered by §1031, that piece of trans is a recognition trans (Gain, here)

ii.
J's basis in new truck = (1) Basis of prop transferred ($50 stock + $100 old truck) + (3) Gain recog on exchange ($100) = $250. (no loss recog, no BOOT received, no other prop)

iii.
CHECK: -> Preserve for future recognition, the $150 gain (if sell new truck for FMV $400  - $250 basis) on truck-for-truck exchange which J did not recognize 

c.
If S's basis in truck is $350 and both trucks are used in his bus

i.
S did get BOOT and like-kind prop. He transfers a truck (basis 350, FMV 400) = 50 inherent gain

ii.
LESSER-OF RULE: 

a.
Gain = A.R. (Truck 250 + Stock 150 = 400) - A.B. (his truck 350) = 50 gain realized on trans

b.
BOOT he received worth 150. 

c.
-> Gain recognized = 50. You can't recognize more than you realize! 

iii.
§1031(c) - If in trans, transfer only like-kind prop, and get back like-kind prop and BOOT -> no loss recognized.

a.
Recognize gain up to BOOT received
b.
Never recognize loss, even if BOOT is received
c.
Can recognize a loss when transfer both 1031 prop and prop not under 1031

iv.
§1031(d) - BASIS of prop S acquired on 1031 exchange = (1) Basis of prop given up (his truck $350) - (2) Money received ($0) + (3) Gain recognized ($50) = $400

a.
Reg §1.1.031(d)-1(c): Basis in BOOT recv'd = its FMV -> $150 basis in stock

b.
-> Leave $250 basis in truck recv'd 

c.
(or Basis truck acquired = (1) 350 - (2)'money received' = BOOT FMV = 150 + (3) 50 = $250)

v.
CHECK: If S now sell the truck at $250 (FMV J's truck) -> he will not recog or realize any gain b/c on initial swap, all gain of 50 that was realized was recognized -> if value constant -> no potential for future gain

7.
Ex5: E purchased an apt building sev yrs ago for $80,000, paying $20,000 in cash and taking the building subject to an existing $60,000 nonrecourse mortgage. Currently, E's adjusted basis in the building is $60,000 and the outstanding mortgage is $40,000. E's building has a FMV $140,000.



F owns a building, free and clear, with a FMV of $90,000. F's adjusted basis in his building is $35,000. F gives the building and $10,000 cash to E in exchange for her building subject to the existing mortgage

a.
E's basis = $80,000. (Crane; Franklin not apply). Adjusted basis = $60,000. (give her credit for indebtedness she has to take on $0) A.R. = FMV of prop received $90,000 + Cash $10,000 + Debt relief $40,000 = $140,000 (§1001(b)) -> (§1001(a)) Gain = A.R. - A.B = $80,000 gain realized 

i.
How much gain does she recognize? $50. §1031(b) - She can' recog more than she realize. She doesn't have to recog more than BOOT (Debt release $40 + $ rec'v $10 = $50)

ii.
-> Basis in E's new building acquired should have built into it $30 gain potential b/c $80 realized; only $50 recognized

b.
Basis in her new building = (1) Carryover basis of prop transferred - (2) $ received or BOOT + (3) Gain recognized on exchange = $60 - $50 + $50 = $60.

i.
CHECK: If E sell new building for 90 -> 30 of gain

c.
F: get FMV of prop $140 - Basis of (10 cash gave + 35 old basis + 40 credit for mortgage he takes on = $85) -> Gain realized = $55.

i.
How much gain does F recognize? 0 b/c he got no boot! Only got like-kind prop

d.
F's basis in prop recv'd = 35 old basis + 10 cash + 40 mortgage = $85

8. 
Ex6: 

L's prop
M's prop

A.B.

50

100


FMV

70

80


Mortgage
40

50


Net Value
30

30


L and M exchange their props taking subject to the mortgage on the acquired prop

Net values of each prop = 30 -> can swap; no need for cash

a.
L:

i.
Reg §1.1031(d)-2 Ex.2: 


A.R.
= 80
FMV M's prop



 +40
Mortgage relief 




 120



Basis 
= 50
Old basis




+50
New mortgage (Crane, Tufts - advanced credit for liability take on)




100



Gain realized = $20

ii.
Mortgage release is BOOT. But, $40,000 BOOT is offset by conisderation given in the form of receipt of property subject to a $50,000 liability.

iii.
LESSER OF RULE -> Gain recognized = 0

iv.
BASIS in L's prop should preserve for future recognition the $20 realized gain which L did not recognize


Basis =   (1) Basis of Old Prop (50 old basis of prop + 50 mortgage taken on)



 - (2) Money Received (40) 



+ (3) gain recognized (0)
 

Basis in L's newly acquired prop = $60

v.
CHECK: If he sells the new prop for FMV, 80 -> will realize and recog gain $20

b.
M:

i.
A.R.
= 70
FMV L's prop



 +50
Mortgage relief



 120


Basis 
=100
Old basis



+ 40
New mortgage



  140


Loss realized = ($20)

ii.
0 loss is recognized b/c this is a §1031 transaction (§1031(c))

iii.
BASIS in M's prop should preserve for future recognition the $20 realized loss which M did not recognize


Basis =  (1) Basis of Old Prop (100 old basis prop + 40 mortgage taken on)



- (2) Money Received (50)



- (3) Loss recognized (0)


Basis in M's newly acquired prop = $90

iv.
CHECK: If M sells the new prop for FMV $70 -> will realize and recog loss $20

c.
Assume that FMV of M's prop is only $75, M pays L an additional $5 cash on the exchange, and M's basis is $20. 




L's prop
M's prop


A.B.
50

20


FMV
70

75


Mortgage
40

50


Cash


5

L
i.
A.R. 
= 75 
FMV prop received



+   5
Cash



+ 40
Mortgage release



120


A.B.
= 50
Old basis



+ 50
Mortgage take on



100


Gain realized = $20

ii.
BOOT received = 40 debt release, but offset by 50 debt take on. So only BOOT received = $5 cash


Consideration received in form of cash is not offset against debt
iii.
LESSER OF RULE -> Gain recognized = $5

iv.
BASIS should preserve for future recognition, $15 of gain that was not recognized


BASIS  = (1) old basis (50 basis old prop + 50 mort assumed)



  - (2) money received (5 cash + 40 debt release)



 + (3) gain recognized (5)


Basis in L's newly acquired prop = 60

v.
CHECK: If L sells new prop for FMV 75 -> will realize and recognize gain of 15

d.
M:

i.
A.R.
= 70
FMV prop received



+ 50 
Debt release



120


A.B.
= 20
Old basis of prop



+ 5
Cash he gave



+ 40
Mortgage taken on



65


Gain realized = $55

ii.
Boot received = 50 debt release - 40 debt taken on - 5 cash gave out = $5


Consideration given in form cash is offset against debt
iii.
LESSER OF RULE -> Gain recognized = $5

iv.
BASIS should preserve for future recognition the $50 gain that was not recognized


BASIS = (1) Old basis (20 basis old prop + 5 cash he gave + 40 debt assumed)



 - (2) Money received (50 debt release)



 + (3) Gain recognized (5)


Basis of newly acquired prop = 20

v.
CHECK: If M sells new prop for FMV 70 - > will realize and recognize 50 of gain

XIII. Advanced Timing Issues

A. Deferred Payment Sales - §453

1.
Installment sale = At least one payment occurs after year in which sale takes place - 'disposition of prop where at least 1 payment received after the close of the taxable year in which the disposition occurs' 

a.
T reporting gain on installment method defers reporting gain until he is paid -> postpones payment of tax

b.
§453 mandatory for sales of real prop and casual sales or personal property

c.
Dealers, regularly sell pers prop on installment plan, cannot use installment method

2.
Only gains may be reported on the Installment method §453(c) - mech for how much each payment is gain and how much is basis recovery

a.
Gross profit ratio = Gross profit / Total Contract price

b.
Income recognized for any year from disposition = payment received x (g.p.r.)%

c.
§453 trans - only cash payments

d.
Contract price does not include debt relief b/c is not a cash payment

3.
Defferred payment of tax = int free loan from gov't -> Require seller of bus or rental prop (who is not a dealer) to pay int at 'applic %' on the deferred tax liability (§453A(a)(1))

4.
Ex: S owns a parcel of land, free and clear. A.B = 20,000. FMV = 100,000. She sells the land to B for $100,000, receiving $10,000 in cash as a down payment and B's promissory note for $90,000. The note calls for B to make equal annual installments of $10,000 each for the next 9 yrs, with the first installment due in one year. B also agrees to pay 10% interest each year on the unpaid balance at the end of each year. Assume this interest rate mets the imputed interest reqmts. Because the claim to future payments is a valuable prop rt under state law, with a FMV equal its face amt, S has an amt realized of $100,000 at the time of sale. She further realizes a gain of $80,000. S is in the 28% income tax bracket.

a.
Adequate stated interest -> accept what parties have called 'payment' principal / interest payments -> Not have to worry about disguised int in trans equal annual installments

b.
A.R. (FMV of land) = Note + Cash = $100,000

c.
Gain = $100,000 - A.B. $20,000 = $80,000

d.
Problem for taxpayer if have to pay tax. on entire gain realized. Disposition = realization event -> all gain realized is currently recognized and acounted for in current year -> has to pay 22,000 taxes in bracket, which is > 10,000 cash she receives

e.
Liquidation problem: Cash now + 90,000 over nine years-> §453 provides a way out

f.
 §453 - If have installment sale -> ratable inclusion of gain = ratable recovery of basis -> as each 'payment comes in (§453(f)), a portion of each payment is treated as some portion of basis and remainder is gain

g.
gross profit ratio = 80,000 profit / 100,000 contract price = 80%

h.
-> As each payment comes in, 80% of each payment = gain; 20% = recovery of basis

i.
The only payments here are actual cash receipts

j.
Y1: 10,000 cash payment x 80% -> 8,000 GAIN; 2,000 Recovery of basis

k.
Each payment = 10,000 -> over 10 payments (cash + 9 payments under note) = $100,000

l.
Each 10,000 payment yield 8000 of gain -> Total = 80,000 gain ratably each year; Total = 20,000 cost recovery over term of obligation

m.
CHECK: Over term of oblig, T in fact recover appropriate amt basis & appropriate amt gain

n.
As payments of principal are made, Buyer also oblig to pay interest.


Y2 = 9,000 int


Y3 = 8,000 int 
gain -> not gain on the sale -> Cap? Ord? 1231?


§453 just special method of accounting for trans - by installment - override T's normal method of acctng (Cash / Accrual method)




